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BPSC PRELIMS MOCK TEST-01

With reference to the Charter Act 1813, consider
the following statements:

1. It ended the East India Company’s trade
monopoly in India, except for the tea trade
and trade with China.

2. It consolidated the sovereignty of the British
Crown over the Indian territories held by the
Company.

3. The revenues of India now came under the
control of the British Parliament.

Which of the above statements is/are correct?
A. Onlyland?2 B. Only2and3
C. Onlyland3 D. 1,2and3

Consider the following statements regarding

Absolute Veto:
1. A veto can be exercised in Private Bills.

2. It was exercised for the Office of Profit Bill,
2006.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Bothland2 D.

Only 2
Neither 1 nor 2

Assertion (A): The Gram sabha is granted
constitutional standing by the 73rd Amendment
Act to the constitution.
Reason (R): Gram  Sabha was formally
mentioned in the report of the
Balwant Rai Mehta committee.
A. Both A and R are true and R is the correct
explanation of A
B. Both A and R are true and R is not the correct
explanation of A
C. Assertion is True but Reason is False

D. Assertion is False but Reason is True

Who said that “the Constituent Assembly alone
can frame an indigenous Constitution for the
country and truly and fully represent the will of
the people”?

Dr. B.R. Ambedkar
Annie Besant.

A. Mahatma Gandhi B.
C. Jawaharlal Nehru D.

1.
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9re Afafam, 1813 o dey H, Ffeiiad el 3 foar

FHifSu:

1. 9% HIeAH @ 91 3R 91 & 91 819 aTel AR &
BIEHY, TR T 3L ST HUAT o AT U B
! T e fear T

2. 9% HIEH T HUAT & PR I YR &5 )R
foifewr h1e ot AU e & Tenfud fosar mam

3. YRd & IeTd 319 fafesr gog & fAdsor § 31 mam

IRIh e H A i J1 FE 87
A FHae 1 32 B. adl2 33
C. Paedl3R3 D. 1,23iR3

qof it & daeg & Fafefad Hodf ®) faar Sifs:
1. fash faduest & el o1 v fpar s aedr g1

2. =PI YA Y & U fadaes, 2006 & fag fmar
TR el
T e B & B A/ e B/

A. &Hadl B. a2
C. 1323 D. L AE2

A (A): IfaaE & 734 gene ffafeas & o g
T G I G gt T T )

FeTdd I AgdT afmfa i e § um g
1 3T 9 & Iocie fasar T &

HRIT (R):

A. A3RRIAITEIE 3R, A H T A g
B. A 3R R @8 € 3R R, A I T8t e et 21
C. ®UT A TR ¢ Afeh BROT R Terd 21

D. @& A T[eld g oifeh SRYT R T8l 2

o gr o1 fo “dfgemT g 31pa g < & fow s
el dfger a1 Fehdl § 2R g 98t A § 3 gf avE

Q At Bt 31 o1 uffAferea oY gadl 272
A. g el B. ef &1.3R. 3ndeae
C. SIAEId Ag% D. Uwilade

PaperI/1



Paper1/2

BPSC PRELIMS MOCK TEST-01

According to the constitution of India which of 5.

the following is/are ground for disqualification of

membership of the State Legislature:

1. Heis an undischarged insolvent.

2. He must not have any interest in government
contracts, works or services.

3. He must not have been dismissed from
government service for corruption.

Select the correct answer using the code given below:

A. Only1l B. Onlyland?2
C. 1,2,and3 D. None of the above

Consider the following events and arrange them in

correct chronological order, from the first to the

last activity:

() Appointment of the Drafting Committee.

() Adopted and enacted the Constitution of India.

(IlN) The date of commencement of the Constitution
of India.

(IV) First meeting of the Constituent Assembly.

Choose the correct options from the codes given below-

(V) () @y B (1) (1) (1Iv) ()
C. (V)@ . (@) av)

The Governor of a state performs which of the

following functions?

1. He/She exercises executive, legislative and
judicial powers only.

2. He/She has to always act with the aid and
advice of the council of ministers.

3. He/She has the power to appoint and remove
the members of the state finance commission.

Which of the statements given above are correct?

A. 1and2Only B. 2and3Only
C. 30Only D. None of the above

Which of the following has been added to the
scope of the Right to Life (Article 21) by the
Supreme Court?

1. Right to receive minimum wages

2. Right to guaranteed employment for 100 days
in a year

3. Right to live with dignity

4. Right to livelihood

Select the correct answer using the codes given
below:

A. Onlyland3 B. Only3and4
C. Only1,2and3 D. 1,2,3and4
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In the Government of India Act 1919, the functions
of the Provincial Government were divided under
the subjects Reserved and Transferred. Which of
the following were considered ‘Reserved’ subjects?
1. Administration of Justice

2. Local Self Government

3. Land Revenue

4. Police

Select the correct answer using the code given
below

A. 1,2,and3 B.
C. 1,3,and4 D.

2,3,and 4
1,2,and 4

Which among the following participate in the
election of the President of India?

1. The nominated members of both the Houses
of Parliament.

2. The elected members of the Legislative
Assemblies of the States.

3. The nominated members
Legislative Assemblies.

4. The elected members of the Legislative
Assemblies of the Union Territories.

of the State

Select the correct answer using the code given
below:

A. Only1,2and3 B.
C. Onlyl,2and4 D.

Only 2 and 4
1,2,3and 4

Consider the following statements regarding the
features of the 74th Amendment Act of 1992:

1. The Governor of a specific state may direct
that the provisions of the Act be modify as per
his discretion.

2. The state legislature may make provisions with
respect to the maintenance of accounts by
municipalities.

3. The act does not provide for any specific time
period for any municipality.

Which of the statements given above is/are
correct?

A. 10nly B.
C. 2and3O0nly D.

2 Only
1,2and3

9.

10.

11.
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URT IIHR fefas, 1919 H YT TRHR & BT bl
RIS Ud g&arard fawi & 3faria faufsra fosar mam em
fafefaa & 9 frd Rfa s 7T Siar ar?

1. I T YR

2. T WA

3. YIqeE

4. Yfem

frafaRad oe &1 3udhT & gt 3T &1 99 SIS -
A 1,233 B. 2,334

C. 1,334 D. 1,23fR4

fafRad & § o vRT & Tgula & FataT § am
AT E?

1. G & QI &l & HAFId Je|

T41 ol fqergenait o fHaffaa g

T faem goraft & g el

g AT geEn & faem goraft & Faffa gz

> W

fafeiRad e o1 3TN o2 el 3T B T Hifeul

A FaA1,23R3 B, Haa2 34
C. &ac11,23k4 D. 1,2, 334

1992 & 749 FuneT fafFam o faeivarait & deyf #,
fFafafad weAi w faer SHifs:

1. 5 AR o9 & Tsaure a8 Py @ g&a ¢ 6
fafAgy & Uraeri S 39 faad o aR deifad
fopaT ST aehdr 2l

2. TY Qe TR Uifeiastali gRT @idi & Wadd &
G4 § Gra e o Gebat gl

3. g sffafgy fedt off TR wiferesT & forg fomedt lafde
G 37afe) &1 UraeT Ta ol ¢l

I | A BIH-91/d B T8l 2/27

A. Had 1 B. ohad 2
C. FaeT2 3k 3 D. 123R3
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Which of the following best describes the term
“Judicial dynamism”?

A. It implies that the role of judges should be
scrupulously limited.

B. It requires a Judge, who has been appointed
to hear and determine a case, to stand down
from that case.

C. Itrequires NGOs to fight cases of downtrodden
sections of society.

D. The assertive role played by the judiciary to
force the other two organs of the government,
legislature and executive, to discharge their
constitutional duties.

Under which Article of the Constitution of India, a Bill
which levies tax without the recommendation of the
President cannot be introduced in the legislature?

A. Article 117 B. Article 266
C. Article 306 D. Article 307

Consider the following statements with reference

to the “PESA Act of 1996”:

1. The central government may nominate such
Scheduled Tribes which have norepresentation
in the Panchayat at the intermediate level or
the Panchayat at the district level.

2. Everyvillage shall have a Gram Sabha consisting
of persons whose names are included in the
electoral rolls for the Panchayat at the village
level.

3. The prior recommendation of the Gram Sabha
or the Panchayats at the appropriate level shall
be mandatory for the grant of concession for
the exploitation of minor minerals by auction.

Which of the statements given above are correct?

A. 1and2Only B. 2and3Only
C. 1land3O0nly D. 1,2and3

Consider the following statements

Speaker of the Assembly:

1. He resigns by writing to Chief Minister.

2. Heisthe final interpreter of rules of procedure
and conduct of business of assembly.

Which of the statements given above is/are correct?

A. Only1 B. Only2
C. Bothland2 D. Neither 1 nor?2

regarding

12.

13.

14,

15.
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A 3T 117 B. 3f<q 266

C. 31T=3 306 D. 3= 307

“Tgr 1fafaad 1996 & g §, fAgfafad el w faem

HifS:

1. &g WHR TH IFGRIT SHSTad! Bl AHifhd 3
Gohd! & ST Hegad! wr W Gad a1 el &) W
YarId § B ufafafera T8t 2

2. U T H Teb U 9T gl o 08 =i wnfiver
B S AT U TR W UARId & fore Haemar geEt
H orfiret 1

3. et gy Mot @Sl & ded &q faed 2 ' e
JofT 37eaT 3T TR R YARIG! i qd 37T ifard
Kl

RIS H - TE 87

A. FHad 132 B.

C. Paell3R3 D.

aeT 2 3R 3
1,233

fagmge ey & ddyg ¥ fAgfafag soaf | far

HifST:

1. I gl Bl U forerest g&diohl ST ¢

2. Ig fagmEawr &1 ufgsar 31X wrf dered & faEt &
3ifyH AR e B

I0h el H & B T1/4 T8 8/8?
A. FHadl B. dhad 2
C. 1323 D. Adil, 782




16.

17.

18.

19.

BPSC PRELIMS MOCK TEST-01

Match List-l with List-ll and select the correct
answer with the help of the code given at the
bottom of the lists.

List |

a. Part XV
Constitution
b. Part XVI
Constitution
c. Part XVII of the
Constitution.

d. Part XVIII of the
Constitution

A. a-3,b-4,c-1,d-2 B. a-4,b-3,c-2,d-1
C. a-1,b-2,c-3,d-4 D. a-2,b-1,c-4,d-3

Consider the following statements:

List Il

of the 1.Emergency Provisions

of the 2. Official Language

3. Special provisions with
respect to certain sections.

4. Electoral

1. The judges of a high court are appointed by
the Governor.

2. The Constitution does not specify the strength
of a high court and leaves it to the discretion
of the Parliament.

Which of the statements given above is/are

correct?

A. Only1l B.
C. Bothland2 D.

Only 2
Neither 1 nor 2

The Preamble of the Constitution of India aims to
ensure that all its citizens

1. Social and Economic Justice

2. Freedom of Thought and Expression

3. Equality of Opportunity

4. Dignity of the individual

Choose the correct answer from the following codes.

A. 1and2only B. 1,2and3only
C. 2,3and4only D. 1,2,3and4

Consider the following statements

“Delimitation Commissions”:

1. Commissions have been constituted 5 times so
far.

2. Orders of the commission cannot be
guestioned before any court of law.

Which of the statements given above is/are correct?

A. Only1 B. Only2
C. 1and?2 D. Neither 1 nor2

regarding

16.

17.

18.

19.
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Tlt-1 1 gi-11 & gafera H ok 9 Ru mw pe 6
eI Y Fgt I &1 9a Hhiforal

gl 1 T 11
a. GRIAH UM XV 1. TR UIGe
b. AR BT UM XVI 2. TSTHTHT

c. GRgM @ 9T XVIIL 3. 8 a1l & g9¢ | fagiy
PICBIE]

d. fag™ &1 9 XVIII 4. 999

a-3,b-4,c-1,d-2 B. a-4,b-3,c-2,d-1
C. a-1,b-2,c-3,d-4 D. a-2b-1,c-4,d-3
fAafeiiiad Hel R faar Hifse:

1. 3 I & IRt o Agie Tsaue gry
STl 21

2. R I <ITed &1 Ui & AR Ad et € 3R
24 998 & 99 WaEdr ¢l

T e B & B A/ e B/

A. &gl B. ohad 2

C. 13R23H D. Ad13RAE2

YRAIG ETETH T I2RAehT BT @18 ¢ 303 Foft ATieen bl
et Ud 3Mféies =g gAfgd wen

fomm afk sifreafs it wcrar gffeyd e

TR D FHAEAT AT BT

ek i TREAT GG B

fAafeiiiad e & & Igt 3T &I 991 Hifeig

A. a1 32 B. 1,233
C. $aq2,33k4 D. 12 334

. AT & Gag § fAgfeafag woAl W faar
HifST:
1. 39D 5 TR 3R &1 TS fea i1 bl g

2. RIS 37 & fopdt it =marmera & wsmrd =gl fpar
ST FehdTl

[EnY

5 W

I0h el H & B T1/4 T8 8/8?
A. FHadl B. dhad 2
C. 132 D. 9 1,A82
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20. Consider the following statements with reference
to Judiciary of India:

1. The President can appoint a judge of the
Supreme Court as an acting Chief Justice of
India.

2. With the previous consent of the president,
the Chief Justice of India can appoint a judge
of a High Court as an ad hoc judge of the
Supreme Court for a temporary period.

3. The retired judge who is acting as a judge of
the Supreme Court for a temporary period will
enjoy all the jurisdiction, powers and privileges
of a judge of the Supreme Court.

Which of the statements given above are correct?

A. 1and2Only

B. 2and 3 Only

C. 1land3Only

D. 1,2and3

21. Consider the following statements, regarding
president’s veto power:

1. A Constitutional Amendment Bill can only be
assented.

2. The President has more Veto power regarding
the Ordinary Bill as compared to the Money
Bill.

Which of the statements given above is/are correct?

A. Only1

B. Only2

C. Bothland2

D. Neither 1 nor 2

22.  Inwhich of the following cases, the Supreme Court
held thatthe Preambleis a part of the Constitution?

A. Union of India vs. Dr. Kohli

B. Banarasi Das vs. State of U.P.

C. Lic Of India Case 1995

D. Berubari Union Case 1960

23.  Which of the following organizations/departments
is presided by the President of India?

A. Indian Red Cross Society

B. Department of Atomic Energy

C. National Legal Services Authority

D. Defense Researchand Development Organization

Paper1/6
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HIfsT:

1. APufd Faied AT & Ueh AT Bl WRd &
prdaTge g e & &0 § g ¢ gendl 2|

2. Tgufd $i gd FeHfd &, YR &I 77 =Arnedrer foset
I <RI o ~RITETe ahf 3reerft 3rafey & forg et
T & el =reer & &9 & g o gehar |

3. Jarfga < SRRl srafa & forw gdr
SRR & <IRIENT 3 €9 & B 92 T &, 3 gdie
RTAT & =Rty & goft sifer 89, ufedt 3k
foRrefersr a1 @y feTm

I el B -G T 27
A. Fad 1 32
B. ael2 3R 3
C. adl3i3
D. 1,233

Tyuf b dict fh & dae § Aafefad seHf ® faar

DI

1. dg dfaad deige {999 B haa fHifad o
el 2l

2. Pl S Urd o fadares ot o1 & FraroT fadasds &
eer & arfer et e gt 21

30 Bl H F D A1/8 TE /82
A. Faa 1

B. ohad 2

C. 13R23H

D. 941,982

fAgfaifaa & @ forg ame & gat=r <Imemer 3 7 6
TRITEAT TIAET &1 Teh Wi 27

A. YRd I9 §9M 2. Higat

B. SR T §1H 3R YT T

C. T@SMEH 347w gfear ame 1995

D. S&arl A BT 1960

fofaifaa & § foeg dmre/faumT &i sreag@ar vRd &
A Hed 7

A. Efead e wig g

B. URHIY] Jail faumT

C. ugta faferes Sar wferemeor

D. & 3 3R e dired
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With reference to the Judiciary of India, Consider

the following statements:

1. The term “Contempt of court” has been
defined by the Contempt of Court Act of 1971.

2. Article 129 grants the High Court the power to
punish for contempt of itself.

3. The purpose of contempt jurisdiction is to
uphold the dignity of the judiciary.

Which of the above statements is/are correct?

A. Only1 B. Onlyland3

C. Onlyland2 D. All of the above

Consider the following statements:

1. The Parliament of India can add a particular law
to the Ninth Schedule of the Constitution of India.

2. The validity of any law enshrined in the Ninth
Schedule cannot be tested by any court and no
decision can be taken thereon.

Which of the above statements is/are correct?

A. 1lonly B.
C. Bothland?2 D.

2 only
Neither 1 nor 2

Consider the following statements with reference

to “Judicial review”:

1. Itcan be defined as the power of the judiciary to
examine the constitutionality of executive orders
of both the Central and State governments.

2. The Supreme Court has not declared the
power of judicial review as an element of basic
structure of the Constitution so far.

3. The Judicial review is needed to uphold the
principle of the supremacy of the Constitution.

Which of the above statements given above is/are correct?

A. Only1l B. Onlyland3
C. Only2and3 D. None of the above

Consider the following statements:

1. Thejudge ofthe Supreme Courtcanberemoved
on the ground of proved misbehaviour.

2. The Lok Sabha must sign the motion with at
least half of the majority in order to begin the
removal of a Supreme Court judge.

3. The speaker/chairman is under obligation to
admit the motion of removal of the judge of
the Supreme Court.

Which of the statements given above are correct?

1and 2 Only
1,2and3

A. 10nly B.
C. 2and30nly D.
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AR =it & dey §, Fafafaa s @2 foar

Hifs:

1. “RITITET @l SFHEAT WG &l <A ol 3FHTAT
1R 1971 gRY aReie e e 21

2. ITHE 129 IH I &I 3G AT & foig
e Y ARG TEH BT R

3. 37AHHAT SAMEPR T 38T FRITTIeBT & T i
ST TG 2

i el H & o a/a e /A

A, Fad 1 B. oaell 33

C. Fa 13k D. 3w Aot

fafefaa wemt w foar SIS

1. YRd ! §8E YR & Siaar &t Al g & ue
fordI I S Tt 21

2. Hidt g & AR fepeht oft B &bt derar a1 wdiegor
fopait oft =rrerTeter g e} fobar ST deha § AR A€ 3
W I ol foram ST Fehar 21

Ieh e H 9 i J1/8 TR 2/2?

A. FHaal B. ohad 2

C. 1a3i2dH D. A1, Ag2

“TRie TEter” & de § Fafafad woel ® faar

HifST:

1. 28 $g 3 TT G FPR b BRIGR el Y
ATl &l ST &3 ol =FrRITTTeTehl &t Wb & €9
H iy fopar s gesar g1

2. IAGH TRTAT 3 316 dob s THIEH i Uit &
TfGE <l Yot HTEHT T ded G 21 febarm 21

3. dfaum & garadr & &ga & dRrE W@ & o
TR TEten Bt sawHdT grat 2l

Ih ol H & D I1/8 TE 8/8?
A. Fad 1 B. oaell 33
C. Faa23iks D. THAFE TN

fafafad s ® faar His

1. IHAY AR & <RI &f &g haar & 3MeR
T g ST Fehdl ¢l

2. IHIH AT & RN &l g2 & [T dfemgsT
DI DA H HH 374 TgAT & AT TG T g&IeR
AT I

3. IAH AR & AR & g & Y| &l
WipR AT Wiehy/AaET & i 2

I § § DH-91/8 o T8 /27
A, Hadl B. dell 3R 2
C. FaeT2 3k 3 D. 1,23R3
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Consider the following pairs:
Article
1. Article 158

Related provision

Appointment of the same
person as Governor for two or
more States

2. Article 153 Governor not holds any other

office of profit

3. Article 165 Power of Governor to grant

pardons

4. Article 161 Appointment of the Advocate

General for the State

Which of the above pairsis/areincorrectly matched?
A. Only1l B. Onlyland4
C. Only1,3and4 D. All of the above

Consider the following statements with reference
to the “High court”:

1. All the High courts which exist today were set
up under the provisions of the Indian High
Courts Act, 1861

2. The Writ jurisdiction of the High court kept
outside the doctrine of basic structure doctrine.

3. Under Article 220, the President may transfer a
Judge from one High Court to another High Court.

Which of the statements given above is/are correct?
A. Only3 B. Only2and3
C. Only1 D. None

Two statements are given below, in which one is
called Assertion (A) and the other is called Reason (R) -
Assertion (A): The elements of ‘continuity and
change’ are embodied in the nature
of the Indian political system.

The Indian political system has
elements of the following political
styles - Modern Style, Traditional
Style and Sant Style.

Select the correct answer

A. Both(A)and(R)are correct, but Ris the correct
Explanation of A

B. Both (A) and (R) are correct, but R is not the

correct Explanation of A

(A) is true, but (R) is false.

D. (A)is false, but (R) is true.

Reason (R):

0
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fafafad g = faar Hifs:

AT Tefaa graaH

1. 3725 158 A ATE F 31fees Tt o foy U &
Ffth @ AT & T F fAgfn

ARITA fohdt 31T AT T UG EIROT
T Hearg

3. 31T®G 165 ISTUTA Bl GHIGH & @l Wk

4. ITSE 161 TST & HEIaaw®l dl IR

IR I H & B A1 gAferd el 8/87
A. &ad 1 B. ae 134
C. 1,334  D. IgHaeft

2. 31T=<q 153

“For AT’ & de § fAgfeiiaa wedt o faar Hifsie:

1. gdHM & Hisig @t 35 e YR 35 [
AfIfFaH, 1861 & UIALT o dad LU fdhT U &

2. I I & e SAfieR & gfRard e & g
Y I T AT B

3. 3E 220 & ded, APURA Teb =N Bl Ueb 3=
AT & g8 I AT B WA Y gebdl g

30 et H & i 1/ T B/2?
A. Fad 3 B. adl2 33
C. Fadl D. T I PIE TS

i & e feu Tu & o ues &b 3ifeper (A) dem g
&I BRIT (R) HEISTAT S -

AT (A): YRAE TSIl FFel H UHhfd &
foaear 3R uRtadT & da gfap 2

FRT (R): YR TTifaes eraeen § fFgfafad aemifas
Qferat- anyfes def, Rafe el siivdd
Felt & T B

g A BT I Hifew

A. (A) 3R (R) G @l €, At R, A 1 8t edieneor @
B. %)%aﬁz(f{)aﬁaﬁ%ﬁmf{,Awa@wm
C. (A)HEE, @t (R) Tetd g1
D. (A)Ted &, A (R) @&t &1
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Consider the following statements
“Ordinance”-

1. It can be promulgated when either of the
houses is not in session.

2. The satisfaction of the President is final and
beyond judicial review.

3. It ceases to operate on the expiry of three
weeks from the reassembly of Parliament.

Which of the statements given above is/are correct?
A. lonly B. 1and2only
C. 1,2and3 D. None of the above

Consider the following statements:

1. A Panchayat constituted upon the dissolution
of a panchayat before the expiration of its
duration shall serve the entire five years.

2. All the state laws relating to panchayats
shall be ended with immediate effect at the
commencement of the 73rd Constitutional
Amendment Act (1992).

3. All the members of panchayats at the village,
intermediate and district levels shall be elected
directly by the people.

Which of the statements given above are correct?

A. Only3 B. Only2

C. Onlyland3 D. None of the above

By definition, constitutional government means -

A. Government by legislature
B. Popular government

C. Multi-party government

D. Limited government.

Consider the following statements with reference

to the “Gram Nyayalayas”:

1. These shall be bound by the rules of evidence
provided in the Indian Evidence Act, 1872

2. They are mobile courts and shall exercise the
powers of both Criminal and Civil Courts.

3. The presiding officer shall be appointed by the
State Government in consultation with the
High Court.

Which of the above statements given above is/are correct?

A. Only2and3 B. Only3
C. Onlyland3 D. 1,2and3

regarding 31.

32.
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“31eTeR” o dae A FAafafad weHi 1 foar SHifsre-

1. 28 a9y T S g & Si9 a1 § 4 B8 oft
AT TE

2. Ul 1 IR 3ifom 3R =nfe arften W E)

3. HgE B G doh & I Tdlg Bl GHI T 8!
TITeT FHT Bl STl 21

T el B & B A/ e B/

A. &ae 1 B. el 32

C. 1,233 D. T AL el

fAafafaa woHl w foar hifsre:

1. T} varrd &t 3rafe gara g4 @ U 39 faged
R TS UaId 9L UTd 9 ddb B |

2. 73% daufes Tehes ifafaam (1992) & URY g
£ Ut & e guft T B deniet yHE &
AT g1 S|

3. I, qeaad! 3R e T R dardl & a9 ge
e ST gRT 94 ST

I B A BIH-91/d B T8l 2/87

A. &ad 3 B. %had2

C. Facrl3ik3 D. 3I9® B I HIE el
TR & AR Hae qeehr ol 31 & -

A. fqarht @R

B. WU AIHR

C. S gGld THR

D. Hifd WHR

‘g <IrTaa” & gey § fRafafaa el w faer Hifs:

1. I 9Rd greg Afafem, 1872 § fqu U e &
i g sre g

2. 3 Tl =rarer gia € den swfae ok e
AT a1 bl WIftha o T el

3. UlomH fUeR @ Fgih T59 TWHR gRT 3
RATATAT & TRHY G Y ST

30 et H & i T/ T B/2?

A, Had2 33 B. %dd 3

C. Fadl3R3 D. 1,23R3
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Consider the following statements:

1. The advice tendered by the Supreme court on
any dispute arising out of any pre-constitution
treaty is binding on the President.

2. If any question of law or fact of public
importance has arisen the Supreme court may
refuse to tender its opinion to the president.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Bothland2 D.

Only 2
Neither 1 nor 2

Consider the following statements regarding the
Union and its jurisdiction.

1. India is made up of 28 states and 8 union
territories.

2. India is a sovereign,
republic with a
government.

secular, democratic
parliamentary form of

Which of the above statements is/are true?
A. Only1l B. Only2
C. Bothland?2 D. Neither 1 nor?2

In which of the following matters, the powers and
status of the Rajya Sabha are equal to that of the
Lok Sabha:

1. Election and impeachment of the president.

2. Approval of ordinancesissued by the President.
3. Vote on the demands for grants

Select the correct answer using the code given
below:

A. Only2and3 B.
C. Onlyland3 D.

Only1and?2
1,2 and 3

A parliamentary form of government is one in which-

A. All political parties in the parliament are
represented in the government.

B. Government is accountable to Parliament and
can be removed by it.

C. Government is elected by the people and can
be removed by them.

D. The Government is elected by the Parliament
but cannot be removed before the expiry of
the prescribed period.

35.
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fafaRad Sl | faar Hifre:
1. foat off dfqum-qd afg & 30 faae w da=
AT G & 11 FelTg Apufal & forg srearssrdt 21

2. I B I1 AT Tecd o ded &l Hig IF 33dT
& ol e =ImeTere Tafd Bl 3 79 33 & sThR
P GHdI 2l

IR el H & B /A B/E
A. FHaal B. &had2
C. 1323 D. ddI1,A82

9 3R 39% ABR 97 & de¢ § Fufaf@d weH ®
foar SIS
1. 9Rd 28 TTT 37K 8 g i yee A S ¢l

2. YR HEEIT WA YOTel aTell Ush |9, erfazae,
Aepd e TORSY ¢l

I § A i 91 HYT T3 /87
A. &Had 1l B. a2
C. 1323+ D. Adr1,d82

fufofad & & fosg o & Tsg g1 & et oik @
BT P T 2

1. qgufa ol fafe 3R Agifewim
2. yUfcl gRT S STATGNT bl Hofdt
3. 3FQH | 9T HAGH

fAafeiiiad Fe &I 3T T2 T5! I &1 99 Hifoy|

A. HadT2 3R 3 B. hddl1 32
C. ¥aad13ik3 D. 1,233
THR B G WY I8 & foad-

A. W%ﬁaﬁuﬁ%aﬁﬂwﬁuﬁﬁﬁa
BT gl

B. WHR THS & Ul Iearel gt § 3Rk 38 29% gn
e ot St awar gl

C. TR ST gRT I St & 3R 38 379 gy gemn
of} ST Gehell 2

D. R GTE gRI Tt STt & afer feifea smafer &
It § Uge 38 g/ Tl ST dhdTl
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As a federal court the Supreme Court has exclusive
original jurisdiction in a few cases. This jurisdiction
of the Supreme Court does not extend to which of
the following cases?

1. A dispute arising out of any pre-Constitution
treaty agreement.

2. Adjustment of certain expenses and pensions
between the Centre and the states.

3. Any dispute between the Centre and any state
or states on one side and one or more other
states on the other side.

Select the correct answer using the code given
below:

A. Onlyland?2 B.
C. Onlyland3 D.

Only 2 and 3
None

Original Jurisdiction means the power of a high
court to hear disputes in the first instance, not
by way of appeal. Which of the following is/are
included under original jurisdiction of the High
Court?

1. Enforcement of fundamental rights of citizens.

2. Disputes relating to the election of members
of Parliament and state legislatures.

3. Cases ordered to be transferred from a
subordinate court involving the interpretation
of the Constitution to its own file.

Select the correct answer using the code given
below-

A. Only1l B.
C. 1,2and3 D.

Only1and?2
None

Correctly match the following Union Territories
with the year of their formation -

Union Territory Year

A. Lakshadweep (i) 1961

B. Daman and Diu (ii) 1966
C. Chandigarh (iii) 1962
D. Dadra and Nagar Haveli (iv) 1956

A-(i), B-(ii), C-(iii), D-(iv)
A-(iv), B-(iii), C-(ii), D-(i)
A-(iv), B-(ii), C-(iii), D-(i)
A-(i), B-(iii), C-(ii), D-(iv)

o0 wz>r
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Tsh TH1g g & ¥ § gard e & I $6
et § oI get SfeIenr gidl 1 Fdiel =T &1 a8
gnerer fRnfef@d & & fog ame ao feaiva 72 82

1. dfaum-yd fre @t aneia & 3o faame)

2. g AR T & o9 A = 3R U & gErisE

3. g IR frelt Usg & T BIE faaE 91 U d TS
37 &8 ah Ueh AT e TS

faffad e &1 3uah o F8l 3T &1 994 Hifera:

A Fae 132 B. &adl2 3R 3
C. Faa13iks D. THADE TN

el SR o1 37ef § I < o el & a5

Ugelt a1 § fqarel @ g ot ufel FafetEa § & B

1/ I AT b o QDR b 3iqrid widel 8/8?

1. ARl & Hifcies AfsRT &1 yadH|

2. TEE IR Tsg Rgrged & ge& & fafaT 3
deferq faarel

3. g P AR [ HHcA! DI ST e 3
I IR H TR B &l 3Me STl

fafaRad e &1 3udiT T F&! 3T &1 9I Difey?

A. Fad 1 B. a1 3R2
C. 1,23k3 D. THADE TN

fRafeiiad g fed yee &1 3 e & a¥ & FHferd
<hIfSIY -

g AT TewT Y

A. TIET (i) 1961
B. o 3ikda (ii) 1966
C. g (iii) 1962
D. @y ARTRESA  (iv) 1956

A-(i), B-(ii), C~(iii), D~(iv)
A-(iv), B-(iii), C-(ii), D-(i)
A-(iv), B(ii), C-(iii), D-(i)
A-(i), B(iii), C(ii), D~(iv)

oo w
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The provisions of the 73rd Constitutional

Amendment Act can be grouped into two

categories: compulsory and voluntary. Which of

the following are part of voluntary provisions?

1. Establishment of a State Election Commission.

2. Reservation of one-third seats for women in
panchayats at all the three levels.

3. Determining the manner of election of the
chairperson of the village panchayat.

4. Making the grants-in-aid to the panchayats
from the consolidated fund of the state.

Select the correct answer using the code given below:

A. 1land2Only B. 2and3 Only
C. 3and4 Only D. 1and4 Only

Consider the following statements:

1. Presidential Impeachment charges should be
passed by two-third of members that framed
the charges.

2. Animpeachment is a Quasi-Judicial procedure
in the Parliament.

Which of the statements given above is/are correct?

A. Only1l B. Only2
C. Bothland2 D. Neither 1 nor?2

Consider the following pairs:

List 11

Awarding a lesser sentence in
place of one originally awarded

List |
1. Respite

2. Remission Substitution of form of punishment

3. Reprieve  Reducing the period of sentence

without changing its character

Which of the above pairs given above is/are correct?
A. Only1l B. Onlyland?2
C. Only2and3 D. All of the above

Which of the following Supreme Court cases are
related to disputes/conflicts between fundamental
Rights and Directive Principles of State Policy?

1. Champakam Dorairajan Case, 1951

2. K.S.Puttaswamy Case, 2018

3. Kesavananda Bharati case, 1973

4. Golaknath case, 1967

Select the correct answer using the code given below.

A. 1,2and3 B. 3and4Only
C. 2,3and40Only D. 1,3and4Only

42,
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739 dauTies Gt Al & yrau! o & Jfot &

§1eT ST Hebdl & T 3Rk Wi Rufefaa § 4 o

ifeses UG ol fee 82

1. ST GATG RN i YT

2. dF T3 R darerdl § Afgansdt & fou e fage 9
RIS BT

3. U YT & AP & IAT Pl ugld B [Hefor
P

T ! fed e & =i ! ggrRdr 3FaH &l

:ﬁﬁﬁqmﬁwmwa‘ﬁaﬂ?qﬁm
A, FHad 132 B. &adl2 3R 3
C. a3 3k4 D. &dd 1 3R 4
fAafafaa wo w foar Hifse:
TP W ARIMNINT & 3RIT Hl Y 9F 6 ared
a)-forete Tt gy aiva fopan s =nfgu
2. HEwRT §9E & 819 aTelt Ueh 31ef-=11eres ufhar g
T e B & B A/ e B/
A. &ad 1l B. dhad 2
C. 13R23dH D. L AE2
fAgferfiaa i o faam i
gt 1 gt 11
1. fam el ¥ G 1S STl & &1
TR T &l HH BT
2. URER Tl & &Y &I Ufeena—
3. yfddea < B WEY g (o1 ISt i
3gfe HH HAT
S gl § § i d1/8 Tel /82
A. Fad 1 B. adll3R?2
C. &g 2 33 D. It et

fafefad & 4 SH-a1 gdis AT &1 9 Hifeis
HfereprRY 377 T & ifd v figrdl & st fare)/ o
T geifera 22

1. 996H GRIESH d1G, 1951

2. B ar, 2018

3. PIEMHE YR ag, 1973

4. TiASAY AIE, 1967

4 faw T e &1 TR I el IR gfAu
. 1,233 B. ad 334
C. $9c12,33k4 D. &ad 1,3 3R4
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Consider the following statements regarding the

Fundamental Duties of an Indian citizen:

1. They serve as a warning against anti-national
and antisocial activities.

2. They help the courts in examining and
determining the constitutional validity of a law.

3. Theyserveasasource of inspiration for the citizens.

4. They are enforceable by law.

Which of the statements given above is/are correct?

A. Onlyland?2 B. Only2and3
C. Only1,2and3 D. 1,2,3and4

Consider the following statements with reference

to the States Reorganisation Commission, 1953:

1. Justices Fazal Ali, KM Panikkar and Hridaynath
Kunzru were its members.

2. The Commission supported the partition of
Bombay and Punjab.

3. As per the States Reorganisation Act, 1956, 14
States and 6 Union Territories were created.

Which of the above statements is/are correct?

A. 1,2 and3only B. 1and2only
C. lonly D. 1and3only

Which of the following is/are among the

Fundamental Duties of citizens laid down in the

Indian Constitution?

1. To prohibit the consumption of intoxicated drinks.

2. To value and preserve the rich heritage of our
composite culture.

3. To uphold and protect the sovereignty, unity
and integrity of India.

4. Tosafeguard public property and to abjure violence.

Select the correct answer using the code given below:

A. Onlyl,2and3 B. Onlyl,2and4
C. Only2,3and4 D. 1,2,3,4

Consider the following statements, with reference

to Attorney General of India:

1. He/she has the right to audience in all courts
in India.

2. His/herfees for private legal practice are separate
from the salary received for holding the office.

3. He enjoys all the privileges and immunities
that are available to a member of Parliament.

Which of the above statements is/are correct?

A. Onlyland3 B. Only3
C. 1,2,and3 D. Only2
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YRAIG AT & Hifeles Bdedi & dae § Rgfefad st

T fgar FHifs?

1. A7y e ok s nfafafie & feg amet
& § Bl B ¢

2. 3 fopel I B daenfes derdr i s 3R Refor §
ATl &l Heg i ¢

3. JAIRER! & foTu 9Xon &id & &9 & & ed ¢
4. B GRI Yad- 21

3q?i?ﬁ$aﬂ‘rﬁ@aﬁ=rm/ﬁaﬁ%/%‘?

A. a1 32 B. ael2 33

C. ¥ad 1,2 3R 3 D. 1,2,33W4

g GG 3TN, 1953 & Gy § FRafafed s =

ﬁ?ﬂ'{ﬁﬁﬁ@

1. Sifeed holet 37elt, $HuH Ufrrs 3R geamre ore
29 9e g

2. 9 AT e 31 UsTe & fareT ot gl fama

3. Tod Yl tfefam, 1956 & GER, 14 759 3R 6
g, AT T&¥ ST 7T

I e B & B A/ e B/

A. $ad1,23R3 B Hadl3R2

C. &adl D. hael 133

ffeleEd § d o a1 yrd dfaam & R ariet &

Tiferes a5 4 /87

1. AEiel 9F erel o S+ R Ufdeel el

2. EHR G&pid o T fauEd &l Hed ST 3R aXfed
&

3. A &1 YT, Tebdll 37 3RAE &I ST T 317
3! T8 HEATI

4. GG GURy Bl 8 BT 3R T B AN ST

AR e I 3UAIT 62 Fgt I &1 II dhifeiu:
A HaA1,23R3 B, FHad 1,234
C. 912,334 D. 1,2,3,4

URd & Heaarel & ey 7 Fafafad s w foar

HIfS:

1. 38 R 6 gl el & gAaTE 1 ABR gl gl

2. st Brp Sfeed & forg sadh! B merRard &
mﬁwgﬁﬁmﬁéﬂﬁamm@?ﬁ%l

3. H9¢ 958 B! U g aia gt faewifeer 3k
IayfRar 39 oft U gt ¢

Ih el H & D I1/8 Tg 8/8?
A. Pael 33 B. ad3
C. 123 D. a2
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50. Under Article 19 (2), ‘reasonable restrictions’ on
the exercise of freedom of speech and expression
may be justified in which of the following
circumstances?

1. State Security

2. Defamation

3. Sedition

4. Public Order.

Which of the statements given above is/ are

correct?

A. 1,2only B. 2,3only

C. 1,2and4only D. 1,2,3and4

51.  While the proclamation of national emergency is
in operation, which of the following authorities can
modify the constitutional distribution of revenues
between the Centre and the states?

A. Parliament B. Governor

C. President D. Finance commission

52.  Consider the following statements with reference
to the “Vice-President of India”:

1. He/she is elected by an electoral college
consisting of the members of both the Houses
of Parliament and the Legislative Assemblies
of States.

2. He/she can be removed only through
impeachment proceedings similar to that of
the President of India.

Which of the statements given above is/are

incorrect?

A. Only1 B. Only2

C. Bothland2 D. Neither 1 nor?2

53.  Which one of the following is correct?

A. The Nehru Report (1928) supported the
inclusion of Fundamental Rights in the Indian
Constitution.

B. The Government of India Act 1935 gave shelter
to Fundamental Rights.

C. The August Resolution, 1940 had incorporated
Fundamental Rights.

D. The Cripps Mission, 1942 enshrined
fundamental rights.
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Which of the following statements is NOT correct?

A. A person to be elected to the legislative
council must be an elector for an assembly
constituency in the concerned state.

B. A person to be qualified for the Governor’s
nomination must be a resident in the
concerned state.

C. A person to be elected to the legislative
assembly must be an elector for an assembly
constituency in the concerned state.

D. Amember of scheduled castes or scheduled tribes
cannot contest a seat not reserved for them.

Consider the following pairs:

Article Related provision

1. Article 42 Right to work, to education and
to public assistance.

2. Article 41 Humane conditions of work and

for maternity relief.

3. Article 43(A) Promote cottage industries on
an individual or co-operative

basis in rural areas

4. Article 43 Secure the participation of

workers in the management of
undertakings

Which of the above pairs is/are incorrectly
matched?

A. Only1l B.
C. Only1,2and3 D.

Onlyland?2
1,2,3and 4

State Legislative Council share equal power with

the State Legislative Assembly. In this regard

consider the following statements:

1. A Money Bill can be introduced only in the
assembly.

2. Legislative council can vote on the demands
for grants.

3. Enlargement of the jurisdiction of the state
public service commission.

Which of the following statements is/are correct?
A. Only3 B. Onlyland?2
C. Only1 D. All of the Above
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ffefad & 4 o a1 Sy g8 781 22

A. faam uRvg & fog faifhd g9 aa 2ake &
Tefed Tsg & fqumayr fFHataa &5 &1 Fafs
HEIEIHY

B. AU & AMHIGA o folT Ang ks &l daferd TsT
1 fart g =nfzu

C. faum g & fo Faffa g9 are =i o gefaa
T & faumayr Fafea &3 o Fafes g
1Tl

D. 3 dfud Sifd a1 SIgRId S & Hie dad
Qﬁgizwwqﬁagmsﬁmmm%
EREd

fAafafiaa sie % foar Hifs:
AT Teferd yraen

1. 3G 42 oW, g 3k adshe
AT & 31BRI

2. IATBR 41 & & A RfdEr i
HIgd Tgd

3. 3FJ=c 43(A) fior & ° wfema o
BRI MR T HER Jeit
CAKEEICG

4. 3ITHT 43 3UHHT & U§EA F i
arfiert gffgya e

39 & F Hi-T1/& SieT T gAfed T8 8/87

A. Fad 1 B. ddl 1 3R2

C. ¥ad1,23k3 D. 1,2,334

T faam uftvg T=a faam aur & 91y 9aF ks 9ren
B ¢, 39 99 § Ffeiad st 1 far SHifs:

1. 99 f99g% Had faamayr § usga fear s
el 21

2. faum ufewg areM Al W HaeH & gl &)
3. ST dllh T 37T & 3MAHR &5 5 gfgl

30 et H & i T/ T B/2?
A. ad 3 B. hadl1 3R 2
C. &ad D. 3ugwh gt
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Consider the following statements with reference

to “Directive Principles of States Policies”:

1. The Constitution classifies it into three broad
categories - Socialistic, Gandhian, and Liberal.

2. Its objective is to establish political democracy
in the country.

Which of the statements given above is/are
incorrect?

A. 10Only B.
C. Bothland2 D.

2 Only
Neither 1 nor 2

With reference to India, consider the following

statements:

1. When a prisoner presents sufficient grounds,
Parole cannot be denied to such a prisoner as
it becomes a matter of his right.

2. State governments have their own rules for
releasing a prisoners on parole.

Which of the above statements is/are correct?

A. 1lonly B.

C. Bothland2 D.

2 only
Neither 1 nor 2

“There is equal pay for equal work for both men
and women” is given under which article of indian
constitution?

A. Article 39 (a) B.
C. Article 39 (c) D.

Article 39 (b)
Article 39 (d)

Which of the following statements is/are correct
about the Directive Principles of State Policy?
1. It serves as guidelines for the legislature only.

2. They are mentioned in Part VI of the
Constitution.

Select the correct answer using the codes given below.
A. 10nly B. 2Only
C. Bothland2 D. Neither 1 nor2

Consider the following statements:

1. Zero Hour is a formal device available to raise
matters without any prior notice.

2. Short notice questions are answered in writing.

Which of the statement given above is/are correct?

A. Only1 B.
C. Bothland?2 D.

Only 2
Neither 1 nor 2
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Choose the correct chronology of the following
decisions relating to Fundamental Rights:

1. Golaknath v. State of Punjab

2. Kesavananda Bharati v. State of Kerala
3. Minerva Mills v. Union of India

4. A.K. Gopalan v. State of Madras

Select the correct answer
A 1-2-3-4 B. 2-1-3-4
C. 4-1-2-3 D. 3-1-2-4

Consider the following statements:

1. The origin of this committee can be traced to the
standing financial committee set up in 1921.

2. In the post-independence era this committee
was constituted on the recommendation of
John Mathai.

3. All the thirty members of this committee are
from Lok Sabha only.

Which of the following committees is mentioned

in the above statements?

A. Public account committee

B. Estimate committee

C. Ethics committee

D. Committee on Public Undertakings

Consider the following statements regarding the

duration of legislative council in a State:

1. It is a permanent body and is not subject to
dissolution.

2. One-third of its members retire on the
expiration of every three years.

3. The retiring members are eligible for re-
election but not for re-nomination.

Which of the statements given above is/are
correct?

A. Only1 B. Onlyland2
C. Only3 D. Only2and3
The Constitution grants the right against

exploitation to which of the following?

1. Children

2. Women

3. Tribes

Choose the correct options using the codes given
below-

A. 1and2Only B.
C. 1,2and 3 Only D.

1and 3 Only
2,3 and 4 Only
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gl TR BT 91 HIfST
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fAafafag wo w foar Hifse:

1. =g gffa & safa wraar 1921 § wenfug e o
IR T ST Heha B

2. AT & 916 g9 AT BT 716 S HTE ol 31T
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T
E
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1. g e et e € 3 gt farered gt gian 21
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HaTigd 27 alel & GH: 19 & folU I B &
Afep gA: AT & forg g

IR U B A B A T B/

A. e 1 B. el 3fiR2

C. &ad3 D. a2 33

dfgem Fafafad § 9 fod wivor & fasg far ueE
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1. 9=
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C. $9c11,23R3 D. Had2,33R4
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Consider the following statements regarding the
Fundamental Duties of an Indian Constitution.

1. The Fundamental Duties are confined to

citizens only.
2. Some of them are moral duties while others
are civic duties.

Which of the statements given above is/are correct?
A. Only1 B. Only2
C. Bothland?2 D. Neither1nor?2

Assertion (A): Article 30 of the Indian Constitution

does not define the term “minority”

Reason (R): The Constitution recognises only

linguistic and religious minorities

Choose the correct answer from the codes given below:

A. Both (A) and (R) are true and R is the correct
explanation of A.

B. Both (A) and (R) are true and R
correct explanation of A.

C. (A)istrue, but (R) is false.
D. (A)is false, but (R) is true.

is not the

Consider the following statements regarding the

Comptroller and Auditor General of India (CAG):

1. The office of the CAG is provided by Article 148
of the Indian Constitution.

2. The CAG is the guardian of the public purse
only at the Centre and not at the state.

3. The CAG was called as the most important officer
under the Constitution of India by Dr. B.R. Ambedkar.

Which of the statements given above are correct?

A. Onlyland?2 B. Only2and3
C. Onlyland3 D. 1,2and3

Prior recommendation of the President is required
before the introduction of a Bill in which of the
following cases?

1. Bill involving expenditure
Consolidated Fund of India.

2. Bill for the alteration of boundaries of states or
creation of a new state.

3. Billinvolving amendment of the Constitution.

4. Money Bills.

Select the correct answer using the code given below:

A. Onlyland3 B. Only2and4
C. Onlyl,2and4 D. 1,2,3and4

from the
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Which of the following constitutional amendments  70.

is/are related to fundamental duties?

1. Forty-second Amendment

2. Forty-fourth Amendment

3. Forty-eighth Amendment

4. Eighty-sixth Amendment

Select the correct answer using the code given below:

A. Onlyland4 B. Only2and3
C. Onlyland3 D. Only2and4

Consider the following statements regarding the
immunities enjoyed by the President of India and

the Governor of States: 71.

1. No criminal proceedings shall be instituted
or continued against the President or the
Governor in any court during his term of office.

2. No process for the arrest and imprisonment of
the President or or Governor shall be issued
from any court during his term of office.

3. No civil proceedings against the President or
the Governor shall be instituted during his
term of office in any court.

Which of the above statements are correct?

A. 1land2Only B. 2and3O0nly
C. 1and3O0nly D. 1,2and3

Which one of the following is NOT a fundamental duty?
A. Toprotectand promotethe natural environment

B. To honor the National Anthem 72.

C. To protect monuments and places of national
importance

D. To protect public property

If for any reason the Vice President discharges the

functions of the President in the absence of the 73.

President of India, then which statement(s) is/are
correct regarding his term?

1. During this period the Vice President will
remain the Chairman of the Rajya Sabha.

2. The Vice President will receive the President’s
salary for this period.

3. Ifthe Vice President resigns during this period,
the Chief Justice of India will discharge the
office of President.

Choose the correct option given below-
A. 1,2and3 B. 1and2only
C. 2and3only D. 1lonly
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Who of the among can be appointed as a judge of 74.

Supreme Court?

A. Anyresident of India residing in India for seven
years

B. Citizen of India who have been a judge of High
Court for five years

C. Citizen of India who have been advocate of
High Court for five years

D. Citizen of India who have been a judge of
district court for seven years.

Which of the following are among the salient
features of the Family Courts Act, 1984?

1. Itmakesitobligatoryonthe State Governments
to set up a Family Court in every city or town
with a population exceeding one million.

2. It exclusively provides within the jurisdiction
of the Family Courts the matters relating to
matrimonial relief.

3. It provides for only one right of appeal which
shall lie to the High Court.

Select the correct answer using the code given
below:

A. Only1land?2
B. Only2and3
C. Onlyland3
D. 1,2and3

Consider the statements with reference to the

“term of Vice-president of India”:

1. The term is five years from the date which he
enters upon his office.

2. He/she is eligible for re-election for an
unlimited number of terms.

3. He/she can resign from his office at any time
by addressing the resignation letter to the
Chairman of Rajya Sabha.

Which of the statements given above is/are

correct?

A. Only2and3
B. Onlyland?2

C. Only3

D. None of the above
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Consider the following statements with reference
to the “Supreme court of India”:

1. Part VI of the Constitution deals with the
organisation, independence, jurisdiction,
powers, procedures of the Supreme Court.

2. The Number of Judges of the Supreme
Court can be increased or decreased by the
President.

3. The consultation with the chief justice is
obligatory in the case of appointment of a
judge other than the Chief justice.

Which of the above statements are incorrect?
A. 1land2Only

B. 2 and3 Only

C. 30Only

D. None of the above

Who among the following presides over the
proceedings of the Rajya Sabha when the offices
of both the Speaker and the Deputy Speaker fall
vacant?

A. The senior most member of the Rajya Sabha.

B. The person selected by the members of the
House from among themselves.

C. Any member of the Rajya Sabha appointed by
the President of India.

D. The Union Minister of Parliamentary Affairs.
According to Article 300 of the Constitution of
India, the legal name of the Government of India
is-

The Union Government

The Union of India

Republic of India

Government of India

o0 w

Which of the following writs can be sought by
any interested person and not necessarily by the
aggrieved person?

A. Habeas corpus
Quo-Warranto
Prohibition
Certiorari

B.
C.
D.
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Which of the following taxes levied and collected

and retained by the States?

1. Taxes on agricultural income

2. Duties of excise on alcoholic liquors for human
consumption

3. Stamp duties on bills of exchange

4. Taxes on the sale or purchase of goods

Select the correct answer using the code below:
A. land2only B. 2and3only
C. 3and4only D. 1and4only

According to the Indian Constitution, it is the duty
of the President of India to table which of the
following in the Parliament?

1. Recommendations of the Union Finance
Commission

2. Report of the Public Accounts Committee

3. Report of the Comptroller and Auditor General

4. Report of the National Commission for

Scheduled Castes
Select the correct options using the codes given
below:

A. lonly B.
C. 1,3and4only D.

2 and 4 only
1,2,3and 4

Consider the following statements with reference

to the “73rd Constitutional Amendment Act”:

1. This act has added a new (Part-Xl) to the
Constitution of India.

2. The act has added a new Eleventh Schedule to
the Constitution.

3. The act has brought the Panchayati raj
institutions under  the purview of the
justiciable part of the Constitution.

Which of the above statements are true?

A. 1and2Only B. 2and3Only

C. 3and4O0nly D. 1,2and3Only

IfaBillisreturned bythe Presidentforreconsideration
to Parliament/state legislature which is passed again
by the Parliament/state legislature, with or without
amendments, the President:

A. Has to give his assent to the Bill.

B. Is not bound to give his assent.

C. Canwithhold his assent only up to two months.
D. None of the above.
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fafefaa § @ oH-a1 ¢ sl g1 @A, agel 317
SRBIR TET ST 87

1. BN AT RH

2. HMd 39T & o7 3Tedhigfrd IRE | 3G Yo
3. fafm foet o2 =m e

4. T P foght a1 Wig W

4 fau T Fe &1 TR R el IR gfAul
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SIRTET T & SRR B T o 2

RIS H - TE 87
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C. &ael3d 34 D. ®aell, 233
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Which of the following statements is NOT correct
regarding a no-confidence motion?

A. The first ever no-confidence motion on the
floor of the Lok Sabha was against Jawaharlal
Nehru.

B. Indira Gandhifaced a maximum number of no-
confidence motions.

C. The member who wants to move a no-
confidence motion has to inform the Lok
Sabha Speaker in writing.

D. No-confidence motion can be placed only in
the Lok Sabha.

Consider the following statements:

1. The total amount of taxes on professions,
trades, callings and employments imposed
by the state legislature should not exceed
X25,000 per annum.

2. A state legislature can impose a tax on the
consumption electricity even if electricity is
consumed by the centre.

Which of the above statements given above is/are correct?
A. Only1 B. Only2
C. Bothland?2 D. Neither 1 nor?2

With reference to the strength of State Legislature,
consider the following statements:

1. The strength of a legislative assembly depends
on the population size of the State.

2. The maximum strength of the legislative
council is fixed at one-third of the total
strength of the assembly.

3. The actual strength of a legislative council is
fixed by the legislature of the concerned state.

Which of the statements given above is/are correct?
A. Onlyland?2 B. Only2
C. Only3 D. Onlyland3

Who among the following is present in the meetings
of the Public Accounts Committee of Parliament?

A. Attorney General of India

B.
C.
D.

Solicitor General of India
Comptroller and Auditor General of India
None of the above
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T v & G # e weet § & BiH-ar a8t
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faeg ot T em
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Consider the following statements
“Governor”:

1. No Governor can be removed from office till
completion of his term.

2. No Governor can continue in office beyond
five years.

3. The Prime Minister can transfer the appointed
Governor from one state to another.

Which of the statements given above is/are
correct?

A. Only1l

B. Onlyland2

C. Only3

D. None of the above

Who comes above the Chief Justice of India in the
table of precedence of the Government of India?

A. Attorney General of India
B. Former President

C. Chief of Staff

D. Speaker of the Lok Sabha

Which of the following ‘Offices’ are provided by
the Indian Constitution itself?

1. Attorney General for India
2. Solicitor General of India
3. Comptroller and Auditor General of India

Which of the statements given above is/are
correct?

A. Only1land?2
B. Only2and3
C. Onlyland3
D. 1,2and3

Which of the following group of States/UTs has
only one seat in the Lok Sabha?

Goa, Meghalaya, Nagaland
Manipur, Dadra and Nagar Haveli, Puducherry
Arunachal Pradesh, Sikkim, Lakshadweep

o0 wp

Chandigarh, Sikkim, Mizoram
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Consider the following statements:

1. While a proclamation of National emergency
is in operation, the President acquires the
power to legislate with respect to matters in
the State List.

2. The laws formulated during the National
emergency will become inoperative on the
expiration of six months after the emergency
has ceased to operate.

Which of the statements given above is/are correct?

A. Only1 B. Only2
C. Bothland2 D. Neither 1 nor2

In the questions given below, there are two
statements marked as Assertion and Reason (R).

Assertion (A): The Comptroller and Auditor

General of India (CAG) holds
his office till the pleasure of the
President.

Reason (R): The Comptroller and Auditor General
of India (CAG) is appointed by the
President of India.
Choose the correct option:
A. Both(A) and (R) are correct and (R) is the
correct explanation of (A).
B. Both(A) and (R) are correct and (R) is not the
correct explanation of (A).

C. (A)is correct but (R) is incorrect
D. (A)isincorrect but (R) is correct.

Consider the following statements related to
Cabinet Committees -

1. Cabinet committees are not mentioned in the
Constitution.

2. Cabinet committees are constituted by the
Prime Minister keeping in mind the need of
the hour and the situation.

3. If the Prime Minister is a member of the
committee, it is not necessary that he be the
Chairman of the committee.

4. The Prime Minister is the Chairman of the
Parliamentary Affairs Committee.

Which of the following options is correct?
A. 1,2 and3only B. 2,3and4only
C. 1,234 D. 1land2only
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97.

98.

99.

96. Which committee/commission recommended 96.
that “A permanent Inter-State Council called the
Intergovernmental Council should be set up under
Article 263"?

A. Rajamannar Committee

B. Sarkaria Commission

C. Punchhi Commission

D. JVP committee

97.  Consider the following statements:

1. All money bills are financial bills, but not all
financial bills are money bills.

2. Joint sitting is applicable to ordinary bills or
money bills only and not to Constitutional
amendment bills.

3. If the bill has lapsed due to the dissolution
of the Lok Sabha, no joint sitting can be
summoned.

Which of the statements given above is/are incorrect?

A. Only?2

B. Only1

C. Only2and3

D. All of the above

98. If the Deputy Speaker is presiding over the Lok
Sabha, he has the right to -

A. Participate in the deliberations of the Lok Sabha.

B. Asamember, vote on any proposal before the House.

C. Vote in case of equality of votes but not in the
first instance.

D. In the absence of the Speaker, he does not
have the right to convene a joint meeting of
the Parliament.

99, Considerthe following statements regarding Individual
Privileges for the members of the state legislature.

1. They are exempted from jury service when the
state legislature is in session.

2. They cannot be arrested in civil cases during
the session of the state legislature.

Which of the statements given above is/are correct?

A. Only1

B. Only2

C. Bothland2

D. Neither 1 nor 2
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Consider the following statements-

1. The largest political party in the opposition in
the first Lok Sabha was the Swatantra Party.

2. “Leader of Opposition” in the Lok Sabha was
first recognized in 1969.

3. If a party does not have a minimum of 75
members in the Lok Sabha, then its leader
cannot be recognized as the Leader of the
Opposition.

Which of the above statements is/are correct?
A. 1and3only B.
C. 2and3only D.

2 only
1,2and3

Consider the following statements:

1. The Borrowing limit of the central government
is fixed by the President of India.

2. States can borrow from outside India but with
the prior approval of the President of India.

3. Recently, Parliament has enacted a law to fix
the borrowing limit of the centre.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Only3 D.

Only 2 and 3
None of the above

The vice president plays a key role in the Upper
House of Parliament. In this regard, consider the
following statements:

1. He/she can cast a vote in the Rajya Sabha only
in case of equality of votes.

2. He/she cannot preside over a sitting of the
Rajya Sabha as its Chairman when a resolution
for his removal is under consideration.

Which of the statements given above is/are correct?

A. Only1l B. Only2

C. Bothland2 D. Neither 1 nor2

How canthe Speaker of the Lok Sabha be removed?
A. Byaresolution passed by a two-thirds majority
of the members of the Lok Sabha present.
B. By a resolution passed by a majority of all the
members of the Lok Sabha

C. By the President on the recommendation of
the Prime Minister

D. By the Council Of minister on the recommendation
of the Prime Minister
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Consider the following statements about ‘zero

hour’:

1. Itis an Indian Parliamentary innovation.

2. It provides an opportunity for the MPs to raise
national issues without advance notice.

3. Itis available to members of both the Houses
of the Parliament.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Only2and3 D.

Only1and?2
1,2 and 3

Consider the following statements regarding the

exclusive powers of the Lok Sabha-

1. Ratifying the proclamation of emergency

2. Passing a no-confidence motion against the
Council of Ministers

3. Impeachment of the President of India

Select the correct answer using the code given

below:

A. land2only B.
C. land3only D.

2 only
3 only

Consider the following statements with respect to

Municipalities:

1. Itis not a constitutional obligation of the state
to establish an urban local body in an industrial
township.

2. Allthe members of a municipality shall be elected
directly by the people of the municipal area.
Which of the statements given above is/are correct?

A. Only1 B. Only2

C. Bothland2 D. Neither 1 nor?2

Who among the following had a different portfolio
in the first Cabinet of Independent India (1947) than
the portfolio of his Interim Government (1946)?

1. Jagjivan Ram
2. Dr. Rajendra Prasad
3. C.H.Bhabha
4. Sardar Baldev Singh

Choose the correct options using the codes given below

A. 1land2only B.
C. land3only D.

3and 4 only
3 only
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I B & Gae 7 FmfaRad se 1 faar Hifse:
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A Had 1 3R 2 B. &dd 3 34
C. &acTl3iR3 D. &dd3

> w




108.

109.

110.

111.

BPSC PRELIMS MOCK TEST-01

The Directive Principles of State Policy in the
Indian Constitution have been taken from the
Constitution of which of the following countries?
A. United Kingdom

B. United States of America

C. lreland

D. Japan

With reference to the “Notified Area Committee”,

consider the following statements:

1. All its members are elected directly by the
people.

2. It can be created for a fast-developing town
due to industrialisation.

3. It is created as well as administered by the
Central government.

Which of the statements given above is/are correct?

A. 1and2Only

B. 2O0nly

C. 2and3O0nly

D. 1,2and3

Ad hoc judges are appointed in the Supreme Court
when-

A. Some judges go on long-term leave

B. No one is
appointment

available for a permanent

C. Thereis an extraordinary increase in the cases
pending before the court.

D. There is no quorum of judges for any session
of the court.

Consider the following statements with reference

to the “removal of Vice-President of India”:

1. The motion for removal of the Vice-President
can be initiated in either House of Parliament.

2. Thechargesforimpeachment must be supported
by a special majority in the initiating House.

3. Like the President of India, the Constitution
provides specific grounds for the removal of
the Vice-President of India.

Which of the statements given above is/are correct?

A. Only1

Only2and 3

Only 3

None of the above

B.
C.
D.
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YR FfFem 8 T4 & Hifa v g Fefafaa 5 9
fopg 2w & A 4 forg U €2
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TIH TS 3MERBT
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“ g gfafa” & dev o, fAgfaiag syt w faar
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Which of the following Directive Principles were
added by the 42nd Constitution amendment?

1. To take steps to secure the participation of
workers in the management of industries.

2. To protect and improve the environment and
to safeguard forests and wildlife.

3. To secure opportunities for the healthy
development of children.

4. To promote equal justice and to provide free
legal aid to the poor.

Select the correct answer using the code given
below.

A. Only1,2and3 B.
C. Only1,2,and4 D.

Only 1and 3
1,2,3and 4

Which jurisdiction gives the Supreme Court of
India the authority to resolve conflicts between
the Center and the States?

A. Appellate jurisdiction

B. Aduvisory jurisdiction

C. Constitutional jurisdiction
D. Original jurisdiction

Which of the following directive principles is/are

based on the Socialistic Principles?

1. Raise the level of nutrition and the standard
of living of people and improve public health.

2. Promote equal justice and provide free legal
aid to the poor.

3. To prohibit the consumption of intoxicating
drinks and drugs which are injurious to health.

Select the correct answer using the code given below:
A. Onlyland?2 B. Only2and3
C. Onlyland3 D. 1,2and3

Consider the following statements
Directive Principles of State Policy:

regarding

1. It helpsthe courts to examine and determine a
law’s constitutional validity.

2. DPSPs are legally enforceable by the courts for
their violation.

Which of the statements given above is/are

correct?

A. Only1l B.
C. Bothland?2 D.

Only 2
Neither 1 nor 2
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Which of the following options correctly represent
the states in descending order based on seats in
Rajya Sabha?

A. Gujarat > Karnataka > Kerala > Odisha

B. Karnataka > Gujarat > Kerala > Odisha

C. Karnataka > Gujarat > Odisha > Kerala

D. Gujarat > Karnataka > Odisha > Kerala

Consider the following statements about Writ

Petition of ‘Quo Warranto’ filed in the High Court

of a State:

1. It is issued to enquire into the legality of the
claim of a person to a public office.

2. It cannot be filed by one who is not an
aggrieved person.

Which of the statements given above is/are correct?

A. Only1l B. Only2
C. Bothland2 D. Neither 1 nor?2

Essentially, “Due process of law” refers to?

A. Principle of natural justice

B. The method established by law
C. Fair application of the law

D. Equality before law

The Directive Principles of State policy have been
useful to India because:

1. Theyserve as a crucial test for the performance
of the government.

2. They have helped the courts in exercising their
power of judicial review.

3. They serve as a common political manifesto.

Select the correct answer using the code given below:
A. Onlyland2 B. Only2and3
C. Onlyland3 D. 1,2and3

With respect to the ‘unstarred question’ asked in

the Parliamentary session, consider the following

statements:

1. The answer to such a question is given orally.

2. The answer to such a question is not followed
by supplementary questions.

Which of the statements given above is/are incorrect?

A. Only1 B. Only2
C. Bothland2 D. Neither 1 nor?2
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Which one of the following committees suggested
that ‘the Governor should be an eminent person
from outside the state, and should be a neutral
person who does not have deep political affiliations
or has not participated in politics in recent years’?

A. First Administrative Reforms Commission (1966)
B. Rajamannar Committee (1969)

C. Sarkaria Commission (1983)
D

National Commission to Review the Working
of the Constitution (2000)

The Constitution empowers the Parliament to
make laws on any matter enumerated in the State
List under extraordinary circumstances. In this
regard, consider the following statements:

1. TheParliament can enact laws on a matterin the
State List if the legislature of one state passes
resolutions requesting the Parliament to do so.

2. Such alaw can be amended or repealed by the
legislatures of the concerned states.

3. Not a single law has been passed so far under
this provision.

How many of the above statements is/are correct?

A. Only1l B. Only2
C. Only3 D. None

Which of the following steps are included in
general financial legislation?

Presentation of the budget
Discussion on budget

Passing the Appropriation Bill
Vote on Account

Passing the Finance Bill

LR

Select the correct options using the codes given below-
A. 1,2and3only B. 1,3and4only
C. 1,2,3and4only D. 1,2,3and5only

Which DPSP was added by the 97th Amendment
to the Constitution?

A. Equal payforequal work for both menand women.

B. Participation of workers in the management of
industries.

C. Promotion of cooperative societies.

D. Securing living wage and human conditions of
work for workers.
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Which of the following statements regarding Lok
Adalats are correct?

1. There is no court fee and if the court fee is
already paid the amount will be refunded if
the dispute is settled at Lok Adalat.

2. Thereis no strict application of procedural laws
like the Civil Procedure Code and the Evidence
Act while assessing the claim by Lok Adalat.

3. The parties to the dispute can directly interact
with the judge through their counsel which is
not possible in regular courts of law.

4. The award by the Lok Adalat is binding on the

parties.
Select the correct answer using the code given below:
A. Onlyl,2and3 B. Only2and4
C. Onlyl,3and4 D. 1,2,3and4

“To protect and improve the environment and to
safeguard the forests and wildlife of the country.”
is a provision made in the

A. Preamble of the Constitution

B. Directive Principles of State Policy
C. Fundamental Duties

D. BothBandC

Regarding the composition of the Legislative
Council in a State, which of the following

statements is/are correct?

1. A Legislative Council cannot have more than
one-third members of the total strength of the
Legislative Assembly of that State.

2. The Legislative Council of a state must have at
least Forty members.

Select the correct answer from the code given below-

A. lonly B. 2Only
C. Bothland 2 D. Neither 1 nor2

Consider the following statements:

1. If there is a conflict between the Concurrent
List and the State List, the State List prevails.

2. The power to levy residuary taxes lies with the
respective state government.

Which of the statements given above is/are correct?

A. Only1 B.
C. Bothland?2 D.

Only 2
Neither 1 nor 2
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Which of the following constitutes the revenue of

the urban local bodies?

1. Local taxes include and
entertainment tax.

2. User charges include water charges, sanitation
charges, and sewerage charges.

3. Various cess like library cess, education cess,

beggary cess.

property tax

Which of the statements given above is/are
correct?

A. Onlyland?2
B. Only2and3
C. Onlyland3
D. All of the above

Match the list-I with List II:

List-1

a. Constitution of Legislature
in the States

b. Speaker and Deputy Speaker (ii) Article 199
in the Legislative Assembly

List-11
(i) Article 178

c. Salaries and allowances (iii) Article 168

of members
d. Definition of ‘Money Bill’ (iv) Article 195

Choose the correct option using the codes given
below-

A. a-ib-ii c-iii d-iv

B. a-iv b-ii c-id-iii

C. a-iii b-i c-iv d-ii

D. a-ii b-iii c-i d-iv

Consider the following statements about the
‘Gram Nyayalaya’:

1. Itis a mobile court.

2. It exercises the powers of only Civil Courts and
not of Criminal Courts.

3. It tries to settle the disputes as far as possible
by bringing conciliation between the parties.

Which of the statements given above is/are correct?

A. Only1l
B. Only2
C. Only2and3
D. Onlyland3
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Consider the following statements:

1. The Central Information Commission is a high-
powered independent body.

2. The Central Information Commission is a
constitutional body.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Bothland2 D.

Only 2
Neither 1 nor 2

Consider the following statements-

1. The Speaker of the Legislative Assembly shall
vacate his/her office if he/she ceases to be a
member of the Legislative Assembly.

2. Whenever the Assembly is dissolved, the
Speaker shall forthwith vacate his/her office.

Which of the statements given above is/are correct?
A. 10Only B. 2Only
C. Bothland?2 D. Neither1nor?2

With reference to the pardoning power of the

Governor, consider the following statements:

1. He cannot pardon a death sentence.

2. He can pardon a death sentence if a state law
prescribes for death sentence.

3. He can suspend, remit or commute a death
sentence.

Which of the statements given above is/are correct?

A. Only1 B. Only2
C. Onlyland3 D. Only2and3

The independence of the Supreme Court becomes
very essential for the effective discharge of the
duties assigned to it. Which of the following
provisions ensure the independent and impartial

functioning of the Supreme Court?

1. Security of tenure

2. Ban on Practice after Retirement
3. Power to Punish for its Contempt
4. Its Jurisdiction cannot be Curtailed

Which of the statements given above is/are correct?

A. Only1,and?2 B.
C. Only1,2and3 D.

Only 2 and 3
1,2,3and 4
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Consider the following statements-

1. Judicial custody means that the accused is
in the custody of the concerned Magistrate
and such accused is kept in the lock-up of the
police station and not in jail.

2. During judicial custody, the police officer in
charge of the case cannot interrogate the
suspect without the permission of the Court.

Which of the statements given above is/are correct?
A. 10Only B. 2Only
C. Bothland?2 D. Neither1nor?2

The writ jurisdiction of the Supreme Court differs
from that of a High Court in which of the following
respects?

1. Unlike a High Court, the Supreme Court can
issue writs not only for the enforcement of
Fundamental Rights but also for any other
purpose.

2. The Supreme Court can issue writs against
a person throughout the territory of India
whereas a High Court cannot issue writs
outside its territorial jurisdiction.

3. Unlike the Supreme Court, a High Court may
refuse to exercise its writ jurisdiction.

Select the correct answer using the code given below:

A. Only1l B. Onlyland?2
C. Only3 D. Only2and3

Which of the following does not necessarily follow
from a state’s declaration of the president’s rule?
1. Dissolution of the State Assembly

2. Removal of the Council of Ministers of the State
3. Dissolution of local bodies

Select the correct answer using the code given below-
A. 1land2only B.
C. 2and3only D.

1and 3 only
1,2and3

Which of the following committees is only formed
in the Lok Sabha?

A. Committee on Assurances

B. Estimates Committee

C. Committee on Public Undertakings
D. Committee on Delegated Legislation
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C. Haer23ik3 D. 1,23R3

frmfefere & § o o afifa Sact cmae & nfed gid 82

3 afafa
UTdehetd At
FrasTiAd 3ushdl I Afd
g faam o afafa

o0 w>r
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Which of the following are enumerated in the
concurrent list?

1. Education

Forests

Defence

Banking

Prisons

Select the correct answer using the code given below:
A. Onlyland?2

B. Only2and3

C. Only3and4

D. Only4and5

SIENNEN

Which of the following amendments of the
Constitution provided for the establishment of a
common High Court for two or more states?

A. Fifth Amendment Act, 1955

B. Seventh Amendment Act, 1956

C. Tenth Amendment Act, 1961

D. Fourteenth Amendment Act, 1962

Assertion (A): The Court can review the advice

given by the Ministers to the Governor.

Reason (R): Thereisnolegal accountability for state

ministers in the Indian Constitution.

Which of the following is correct in the context of

the above two statements?

A. Both Assertion (A) and Reason (R) are correct and
Reason (R) is the correct explanation of Assertion (A).

B. Both Assertion (A) and Reason (R) are correct,
but Reason (R) is not the correct explanation
of Assertion (A).

C. Assertion (A)is correct, butreason (R) is wrong.

D. Assertion (A) is false, but Reason (R) is correct.

Consider the following statements:

1. The laws of the Parliament are applicable to
Indian citizens and their property in any part
of the world.

2. The President is empowered to direct that an
act of Parliament does not apply to a scheduled
area in the state.

Which of the above statements is/are correct?

A. Only1

B. Only2

C. Bothland?2

D. Neither 1 nor2
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e & & a3 amad! g & e s 22
farem

dd

a1

Cizl

DA
ﬁ%ﬂﬂﬂ@wmwaﬁaﬂzqﬁm
A. Had 1 3R 2

B. a2 3R 3

C. ¥ad 3 3m4

D. ®dad4 3R5

Tfger & Fofafaa 5§ 3 feg aetem g S ar < & aifers
T o foTT Ueh ITHTRT 357 <RI i ZATIHT BT TIge
[EIRIEIN

A. urgar geied rfafaam, 1955

B. wrqar guited 3ifafiad, 1956

C. TEarguned Afefam, 1961

D. diegal e afafam, 1962

AINBUA (A)- I TG gRT TSI 1 S T8 Fellg
&I g BT Fhl ¢

FRYT (R)- YR Tfga & T 7t & T S8 wrAr
EGICCH B

e &) et & o B Rigfeife A & e & g 27

A. 31fepeA (A) 3R (R) ST @8l & 3R R (R)
A eBeT (A) ol TE AT R

B. 1Mo (A) 3 HRYT(R) EHI T g 3R BT (R)
AT eBeT (A) o Te) e 72 2

C. 31U (A) T8l ¢, Afdh HRoT (R) TTeid ¢

D. 31fWeer (A) TTeld g, e o (R) T2l 21

fafefada wem w foar SIS

1. TEE S B g & fepdt oft g 1 vredier Ammfeent
R 37 TufR WA EE F

2. Pl Y ag P &7 o iR 2 foh a1 g
AOIfm 75 3 SR & T A S e 21

IRI | § BIH-91/8 e T8l 2/2?

&Had 1

Haa 2

1 31z 2
T ARAE2

AREIE R o

o0 w>r
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Consider the following statements:

1. An unstarred question requires an oral answer
and hence supplementary questions can follow.

2. Astarred question, on the other hand, requires
a written answer and hence, supplementary
guestions cannot follow.

Which of the statements given above is/are
correct?

A. Only1l B.
C. Bothland2 D.

Only 2
Neither 1 nor 2

Consider the following statement regarding the
National Human Rights Commission(NHRC)-

1. Itis a Constitutional body

2. It came into existence in 1997

3. Its Chairperson should compulsorily be a
Retired chief justice of the Supreme Court or
High court

Which of the statements given above are correct?

A. Only1 B. Onlyland2
C. Only3 D. None of the above

Consider the following statements with reference
to the “Attorney General of India”:

1. He/she can participate in the proceedings of
the Parliament, but cannot vote on any matter.

2. He/she is eligible for reappointment for
multiple terms, subject to the pleasure of the
President.

3. He/she has the authority to grant pardons in a
few cases.

Which of the above statements is/are correct?
A. Onlyland?2 B. Only2and3
C. Only2and3 D. 1,2and3

Parliament has no role in removing which of the
following officials?

1. High Court judges

2. Judges of the Supreme Court

3. Chairman, Union Public Service Commission

4. Comptroller and Auditor General of India

Select the correct answer from the codes given
below.

A. 1land2Only B.
C. 1,2and30nly D.

3 and 4 Only
3 Only
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fAgferfiad el w faar Hifse:

1. 3FARIfehd U & forg Hifees 3o &t favaehdr gidt &
3R 2T b T IS S Fehd

2. gE 3R, ARIfhd Y S o ferfiaa e bl strawaresan
et 2 3fk zafery, T U AE 9B S g

Ih el B & D I1/8 T8 8/8?

A. Had 1 B. had2

C. 13R2dE D. a1, 982

AP AR AR (NHRC) & &ae H, Hafefed

e R AR HIfST:

1. Ig U e e gl

2. A 1997 H I § 3w

3. 3P ALY AHAE ¥ I gad ARG AT 3
T T AaT-ad Jag <IrRTeie i1 91fgul

IR e B & B/ e B/

A. &ad 1 B. a1 32

C. &ad3 D. 3IW®HIABIE I

“URd & Jerare)” o ged § fAnfeiiad el i foar

SIS

1. o §9S Pl Sriae! § 9T o Fehdl/gehal €, Al
fopelt AT WX HaeH 8l &Y Fehar Tt 2l

2. 9g APl & YATCUI, g Dbl gq JAHgh b
ferg e gt/ g 81

3. 3% U $B TN § GG & 1 ISR B 2|

IRIeh e H & i J1/8 TE1 2/2?

A Had 1 3R 2 B. &ad23ik3
C. PacT2 3R 3 D. 1,233

0 G fopd AfImR! ol 39 U 4 geM § Iug &l Hig
ftreT T 87

1. 3 IRITAT o AT

2. IEIH <A & RIS

3. T i 9a1 3T o 37

4. 9RA & FIAH U9 Heloidl gied

i T 1T e & FE IR BT 9aq HifSu-
A Had 132 B. ad 334
C. $9c11,23R3 D. &dda3




148.

149.

150.

BPSC PRELIMS MOCK TEST-01

Assertion (A): The President of India decides the

gualifications of the Chairman and members of the

Finance Commission.

Reason (R): The Chairman and members are

appointed by the President of India.

Select the correct answer with the help of the code

given below.

A. Both (A) and (R) are true and (R) is the correct
explanation of (A).

B. Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

C. (A)istrue, but (R) is false.

D. (A)iswrong, but (R) is true.

Consider the following statements:

1. Thejudges of the Supreme Court are appointed
by the Chief Justice of India.

2. The judges of the Indian Judiciary are selected
through the National Judicial Appointment
Commission.

3. The earlier collegium system of appointment
of judges has been struck down as ultra vires.

Which of the above statements is/are correct?
A. Only1

B. Only2and3

C. Onlyland3

D. None of the above

In 1988, the “Thungon Committee” suggested

measures for the strengthening of the Panchayati

Raj system. Which of the following are suggested

by the Thungon committee?

1. A three-tier system of Panchayati Raj with
panchayats at the village, block and district levels.

2. Zilla Parishad should be the pivot of the
Panchayati Raj system.

3. Reservation for women is not required.

4. The Chief Minister should be the chief
executive officer of the Zilla Parishad.

Select the correct answer using the code given below:
A. 1and2Only
2 and 3 Only
3and 4 Only
1and 4 Only

B.
C.
D.
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AR (A)-9Ra & Tyale g 3 & sreay 3k
et Y Aimeant Reffed B 7

BT (R)- 3reaey 3R gewit & Rgfs wra & agafa g
&I ST 2

4 3T 10 e &I TETEar 3 TE1 IR &1 997 Hiferg-

A. 31feBeA (A) iR BRT(R) Gl d8) § 3R (R)
e (A) Pl T8 =T 2

B. 31fWeser (A) 3R RO (R) EHI T8l € iR (R)
AT eBe (A) i Te) T 781 2l

C. 31fper (A) T8, Afthd BROT (R) Teld 21

D. 3MfWeer (A) TTeld g, wifehd @roT (R) T2l 21

fafeRad FHeAl ) foar Hifem:

1. qard IEaad & It of gk YRa & g =
Jreneie grRT Bl St 21

2. YR AR & IRt & 9o TP =i
fAgfh 3 & e § fobar ST 21

3. =rEneEn &t fgfs & gdadt Siafsrm yomett &l
YRR & T e T gY ¥ R T T 21

IRI | A BIH-91/8 Be T8l 2/8?

A. &Had 1

B. hdal 2 3R 3

C. Facl3ir3

D. 3IWH G DK Tal

1988 H “¢jr Ifffcy” 3 Uamrc ST AT &l Heled 6

% 3UT T &1 o= St 7 Fafaiad § & = gema

ez 72

1. i, wiieh 30 ool &t O U= o drel U st
&I B ot

2. foreT ufeeg S Uarr ST e i € ST AR

3. Hfgerait & o srRerr B sawrddr T8l 81

4. TEIES Ol oI UG &1 e BRI AT gt
Ul

4 3T 10 e &I TETrar A T8 IR &1 997 Hiforg-

pael 1 32
a2 33
a3 3R 4
a1 3R 4
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BPSC TEST -1 (SOLUTIONS)

Q1. 3JW:A
A

6T AfufEE, 1813 & HreaH ¥ faifewr $w Sfean sot (I
3R = % SR T THIHR o= T6T) & A1k THITHehR
1 T T o T

7T ST o HIeH W U & e el HRAT & R e
SIS I FIAT hT ot AT fohaT T |

BTeilien 39 ST % HIea W 3ATel 20 a1 o foIg 3 &5 %
SRR 3R TSTEd 1 SO 1 i fean T, e we fafew
RIS <t T % feroiet et o |

1858 o 11T o HIETH W YRA & TS ol e §9g
woger T o o T, e S Shieme HE o St e
e o1 ue YR fohan T SR, faeie w0 A, TTea o e |
ITeh! FETT o foTT YR 9o ot 8+ foar |

Q2. JW:A
AT

TR T % Seae 111 H 9 o Iegafel i el vifer <61

I fea 70 € | ot Siel feerren R wE i hi ek X T

il regafer 1 vl 2

gl ferefefaa < we | qu diet &1 S o ¢

v e S BRI UG faeees ueh ST foreee & |

v 5E Heme Tl & fHETE W e HeHtd o § uee
T T <t € A T Shferie Isgufd B R SR 3R
et e TR 7o Fewf = ¢ o el < Fehell |

frrciferd diel =1 ST Tecl AR THg 5T WG T % I8 e,

2006 H o1 T | 3EH U TH-HARA A T FRA B

T o1 S e sl Qe W1 & STl o YRaT WS el

o | ol TS, ool head o 39 e i it fen oy

BItifer, fereereh <h <rsgfer o AR OFT: ST T2 $AR e Hepd fired

Q3. IWC

qTET:

1992 H 73 & HINEA o Hreqd | G | Tk 72 TERE
I (IR % TR | 29 Forer B wnfe w3 areft ) 3R
U= % Heh Teh -1¢ 9 IX (379 243 (A) ¥ 243 (0)
Tqeh o WIS ol ek i aTel ) shl TSl T |

TR TR = T R Wl (1953 ) 3R Freeiren e
HIIHT (1952 ) o T o TR e 3R o ! e
T o T STadt 1957 T Teh GiHfel shi SToHT o |

7T A o 37eet Jordd 9 Wedl 9 | 39 A & ER, uH
T R W G, seifeh T O g |t 3 e TR W
e IR Bt der IS Saee & A 7 | 3 Wl
SR T Y A TS T W ST S e |

FeTad T Hedl Gt o RO | 7 o1 ol T Seoid TR 7 |
37 U 2 TR TR B |

Q4.

3 A

qrEr:

Q5.

TETeHT TMiER H 1939 T gieT Ul ® 319 o @ 'S et '
o for “Tfeem T srehet & <91 % foTw U et e
T el € IR WE W H SR Ol a¥e W i gt b
e o gehdl & 17

JW: A

qTET:

Q6.

U o e, fordl s it fordll T &1 faem @ = ferem

AR 1 T T ST 3R G S o eI 31T Se<ran S

v e o the I ST TR o el ThiE A1 oh1 U HRUT el
? (Tl it =1 oot Ferenferert ST 2 W foRelt o7t U
I BEH) |

v A o8 At T 9 fafared € ofR = g1 e St
ERIERIES

v A 98 S e 2

v 9 I8 R 1 AN Té & 23U Tt o fed faee
[ Y ARl W s ol @ 41 fena et oo & v
o3t o rert ok feRt Tl iferT o atefiFT 211

v 3 9 YOS gRI T T R T % ded ST ¢ |

3 A

qrEr:

Q7.

w9 < 7€ TR 1 el et 39 WK

v EGEE G HeH 93 - 9 R 1946

v WY qiHfd s - 29 s 1947

v YA % e W sErEn S st fmen - 26
TG, 1949

v ¥ % HH & AR 8 % A 26 S 1950 §

3WR: D

qTET:

TSI o i 3R Sl ol FrEfafead & sidd ot
ot ST Hehal ©:

v HEeR vt

v faurt wfeat

v foxia wfea=t

v e vt

THF ST, TSI B IS Wi o 2§ o
T T dg ARRE i el SR Tele ¥ e e e/
kS

fordit T 1 fauTEed, FF W, T5F fo ST (243-
32 ) ! LT, ST T & w9 § FfR % o ey
TTd 3R 37 T8 & e o SR H W Y Hehdl ¢ |
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Qs.

JW. B

qT&T:

Q9.

S=ITH =T A AR W & STeee 21 % ded S &

AFR I e e Tectslt o He it il et wd

TUH €| T 31T T o W ST 6l AREER IHA €, 5

v IS, S 3R e S g STaeeRarsti o | s
I AR

v e &l SRR

v Tran = sfuer

v T TIER 1 SIEHER

w2 foidi ®, Swam e 3 haen g & engE w6

SRR 3R ST &1 e Stae & SUeR § siaried ©

Sifeh 37 SETAHATS o o1 h1g ot Siferd =78 @ Tehar g |

JW: C

qr&T:

TR TRHR =T 1919 Ft Ty fwanstt o o w widi o
S T Y TG ot |

TH T & SiTd T SRR % ! 1 A o ferfea
fopan T - " SIRfEr 3R ‘e’ |

IR fodt ® =y, o-vRa, fom, e et @
Yiferd Aree et o, Safeh seaidfd forseil o T Teeme,
f31em, Tareen, S snfe  Heiftr A it o)

STRIRT e ot widia ek 3R el Srefehr ufiue % a1
@ T A1 i ferenfient o v STRerE el oft, Safer s&didad
Tl =1 e @R Wi % etele @ W o S i
ferenfrent o Wi S<ere o |

Q10. 3W:B

qT&T:

TS o QAT | o A HEe, I farer wuieti & JAea
Tee, T four aRee) & wee (i $iR #= g)
3R fereelt iR gl ferrawsh & A gee et %
T H AT T e B

Jregufel sh fafer Tiedel &9 W STl g1 <18} afesh faifees geet
& HeE g foman e & foraw wiftrer €

v EEE o g g o et T

v s fqemes o el gee

v e SR e et SR g o ferem wisi & frraiferd wew

Q11. JW:A

qr&T:

Jrgafel FISST @ Wehd © foh o U Srvarel 3R Geiei & 31ef,
S fp e FAfdee o Tehd §, Shg ITAd We9t T SR € |

o ferenf3reRt TR qiferenTai §R1 @l o ek S U @
T ol T o GeH e s Fehdl ¢ |

e AT Yieh TR ifeTeht o feTT = |t o shiefshiet &bl
WG I © | BTeiiich, SHeRT il qX B 9 Tgel 39 o
TR ST SR 7 |
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Q12. JW:D
[IEC |

=1k TRl Sl T et o =19 & f S ST g |
ek Wshe AR o SURRI ol TR 3R Tt o ==
I ST < H =rrfere! i Qfsha yftrert i <ol 21

TR VIa] W, Sl I SRR % o1 < i (TR 3k
IR ) BT 30 G hefe & fideT o fore e
T T =T g Yt W 8|

Q13. 3N A
[EC |

T 117 | WEHH € 3 R o aren feeres =1 it
et Tregafer bt AT o) e 1 aferd e e SR v
TG R STl fereiereh o2l sht uier H Ue7 =&t feha s |

Q14. 3JWX:B
qTEr:

T[T TR T SR STt i ATHifhd T ebell @
fSTeT Temrad! TR TR e A1 T TR TR i 8 gt
& 2 | elfehe UE e SH TEEE W g S el qee
T T o o o W sifren e B |

T TMid H Teh T |t entt e W safe et 2 e
9 T TR R Y o foTT Heern g 8 ot 7 |
Sretre/arel R Mo WS & S & fore femd 3 g am
T 71 et o g Srern st et |

Q15. 3W:B
T

YT 78] SUTeAe] bl O foreehy SE Sl e |
faura steae faura o ufFar ik el Herer & et
Y et aRer dferem & wraumi o sifed sarerd el g |

Q16. 3JWX:B
qrEr:

TE gHA 39 ThR &

v GfeaM® MM XV - FHaeE

v G 9 XV - F9 T & Geie H e wraee
v EfET ST WRT X VII - JSTHTST

v GfereT &1 9 X VIII - SATTashiei= weem

Q17. 3JW:D
AT

T AT o =TT et fRrgfeR el IR oA S B | e
=Ireneder i R Rd % T e ok et I %
TSI o TR o ST sgafet G ! Swedt 2 |

T 3w e (IR fafre o gme) § uw g
ST 3R UH 31 =i 81l & i egafel Ta-wm e
R g FAT SEATEE GHIAA B | 39 YR, WAHE 5=
= i 9eEd ge e TE e § ok 3 e %
feas Wlea B




Q18. 3W:D
[]EC)| |

TR ST ot SeRTent o1 @1 € S1ae Tl et i -

v WIS, 3Tffeh SR Tsteiferes = it s

v TR, sferfe, fovam, favam ok oo @1 Sods
G e

v feufy SR e i) e g e

v HfeR o T giAfed e

Q19. 3IW:B
[]EC)))

REMET S & TS 4 91 R T e - 1952 | uREE
s sfufEe, 1952 % ded, 1963 H uREmEA M
s, 1962 o a8d, 1973 o aREmEA sfufem, 1972 %
T8d 3R 2002 H REE sffEE, 2002 % @& |

RETTT SR YR | Teh SR e 2 Feeh sieel &
A % ded ST {31 71 @ SR 3% fealt oft = & <
& < ST Wl |

Q22. 3JWX:C
oqrEn

o7 o 9T o &9 H el ol eife R gai=t =amered g
2 9R == T 7| 39 e At o Jread o gHe
ST Fehell B:

v SEE A 39 918 H SR U Y G W - e
THE o A 3R UREE & SeH-YeH ¥ Hata
T & 3= 143 (1) % ded U Had wnferet o, fra
T3S A & 98 F famm S o | = 3 wa
o e wifeen Frfansli & femm i ST W et
®" iferet fereshe frreprent for 29 Sifeer st s <& | S
el & 3R 8 et H Fad= el 2 |

v hYTEE YAl AT 56 g Jiee |, T e e
TR GHETE o foTT 13 NI 1 Teh Wi Jeiis T oft | =rer
J 9 T SRdTe e § HEE 9 2 | e 7
Tt SifeRT o1 FoR wicraer =11 fo7orer o1 Sl 7] 2, 9 SeEe
& AT SR WG 1 AR § Heeerqut syfeht famar 2 1

v TASTEE! 3tk R HIHel 1995: Watet =rarer + R |

fte ol fop Srdra e o1 U = 31 B, et 78

Q20. 3JWNR:D
AR & = | Yad-1 el 2 |
[JI[C K
Q23. 3IWM:A
ST AR o T =TT oh1 IS R 2, IRl ohl q =rneden Ra—

SR Y Y U B T AR F H&T IR 31
el o1 O e B srAged el |t egufa Teie e %
A HT IR % BrEidTed GEA = & €9 § Py
FLTHAE |

TR % R AT et 3 T oh =i i STeemdt
srafer % foTT qat=t ~Ee & dedd e % w9 o e
X Tl & | T Feiltrd S e o e e  we
3R regafer i O Wt % e @ UE R ka1 2 |
Rl ot 99, 9Rd # g e gdE e &
I AT 2 3= AT o Haf-ge =reder 9, s
= e & =i o w9 4 R % for faftea am

fET IS iE WS (IRCS) o T 1920 T YA 3
T TIEES AP & qed i TE o 3] 28 1920 & §9e
AR XV o ded Sftred 3 T2 o1 | 39 situfae =l sifaw
TR 1992 H GSMITerd fora 7T o1 3R 1994 § e s e 2|
2T IS iF U Wi HadEe 98 ¢, fSee o9 W)
T 1100 ¥ 3tferen M@ o H2aeh §, S ST /ATehTed o
A & TS e 8 G HHSR A SR T o e
3R G hl SaT Sl 2 |

A & HFA TR 56k 78] 31X HIAA el Tarees
T T TR e B

©, s e o A o &9 H FH A FTWE N 24, I B

Tkl 2 | T srafer % forg, =mensder ¥ ool 1 gehaR B _

& S Tgafa Feifa #= g2 | e
a2 e ST ol STEHTAT ohl HieeT gRT R el feran T g |
e BTClTeh, THeI 1971 o ~ATeTd SR i gr ufnfia

3R T € | S5k TR ~AETeT™ Sl STEHIAT Srel 3 SR
ST ShIS Fawiren S faees Tagfa o 9 9 S € o
I8 heled fereieh shl SFHICH T Tehal © 3T 8 ol sredienR
I ST TE B TR ¢ |
TS RIS WIEROT ferereh egufer & qHeT Jqd foha <an 2, <
T8 I 4 feeh T 379 FeHfd < Wehdl @ A1 fargges W s
TEH( ek Tehell € 3R € fI€ien bl Temi o qAfeaR & forg
IO R Fehl € SR STl oh1E € feeren Trgufel o wwet T
T T 2, A 9% =0 < fagaes W stoe et @ < o fae
TR 3 TEH( ek Fehell €, TR FeTeITeh i G bl TARTER
o foru e =7 etter Sephr |

FRsCai S

R HEATH H ST 129 e ~AEed B ST
STEHTAT o foTT SfEd el ot Siferd e Shee € |

STETHT SRR hl ST ~FTITeTehT s TLHT i T1T T
| STEHIT SferT= =Sl <l 9, &I, T I 8N o far
Heel o1 0 e o 370 Shcledl o) U T H HEE A B |

Q25. JWX:A
g

T e i, 1951 g1 S R g 31-A
3R 31-B w1 T o w1 7 |

BPSC TEST - 1 POLITY (SOLUTIONS) 3



Forsie ST (SR 4 UR ) Y EE g A e - Q29 WD

TN ST el €, FoTGehT SE991 ek qeitenl ¥ qad a1 2 |
FTeE 31B W el TN § foh At st o sfeetfaa e sk
fafrreit <l 39 SR TR S T8} HAT ST {36 o ST 111 < fehsit
ot W IR e AR o 1 ST 8, M % B A1 A
FA ¢ | TR 2007 § ST IR 3 373N, FHITee! a8
TAfeTTg | H T T f3ha for Sae o1 Hidt srE § uw
fereret AT STer 1 SRR 2, WifeR T8 =i i % QR
YA TR 2|

=Iarer A e fhan 76 24 @i, 1973 (HmEFe wRdr
T e o AT ) 5 o el v e e
T SMYR TR =Mk Gty s <71 Hehell & ok o e =1 get
T &1 SO 1 Seete L € |

qTEr:

Y 1 TTeT & Tl S AT e, e i S e R
I A A, 1861 % WEHF o ded Tfd foh e o
1862 W SheTendl, SR 3R HETE W o3 ~Irer &1 T o1 78 off |
HUF 2 Tod & 9% FAR AHA (1997) T, I=GH ==
3 frofar e o w=1 =mEer SR S=a| e eA) W e
ST ST i el WA Sl TH 9N € | ey, 39
G o e o JreTd 9 S g2 e S Wehdi B |

HU 3 Tl & UG H ST 222 T < (A
Y | ) i Teh S= e 9 Rl 3 S e
T TR i ol WaeT el ¢ | et =it o TieRor
% TG I YOI A & T e gR1 S =Ry

Q26. 3IW:B FSen T 59 ey | g Bl |
i Q30. FW:A

ToT T 3 iR T S TR ¥ eeh s e

b (ES R

e M S TSERE 98 1975 H, Swd e |
=Nk e ARt bl AU i He S 6 U
ifore feramm|

T el W T ST M ek WA TSI ST
wehtel o 3o R ded et off ud w9 | foeE €1 e,
VRART TTifereh oereen, it foif= i o e aeet @1 e, 8§
SR Shell, TR Srel 3R Fd Sl o deel T & | 6 T
2 2R o 3R RO S e € 3 HRT Hef ol gfte I 2 |

TH & FelleAd), T SqA 1 a W@, AR F 31 3@ A
THifeter SfereRi o &l o feTu =nfres Teial S STeavahai e |
Q27. JIW:A

qTET:

- T T STT= 123 ISl Tl STEATCIT ST B B SHUHR

HeiteT =A™ o AT <l ToUf o A3 §RT SHeh I8 §
T S Tehell € | §2M 1 SMER THaER 3R Sterwel =1 2
F AT L

100 HSE (WAIHEN o HH W) o1 50 T (TSTHA &
e T ) GIR1 SEATRI SReTel S1eaal/uTafe i e S 2 |
TR/ FIEFTEA TS SR R T § A 3
THHR A W RN F HFA R |

Q28. 3JWX:D
IrEAT:

ITT 153 T e, Teish 59 o foTe Teh ST B | 19Tt
o 9 STT=E 1 1S o7t ST Ueh =ifere <h1 € 201 a1 W 3fereh oot
o T o & 1 et e o Frrafi 7 st

STE 158 (2 ) oh &, TSI 1 Sl <hIE 321 U B0 T
AT

FTESE 161 % e, TRl T o TSI ohi 3 Ty waieh,
o7 oo W 39 TS =) ST vt o for €, faRit
fafer o fareg forlt s & ot Rrgeie sev T ot =fery
% T hl &1, ST WidersH, form =1 IRER A @ ra
Tl & forets, TRER =1 Seehvor &l wifer BT |

FTET 165 % Ted, el TS 1 IS, S e
1 = e B % e s Rl sfe = T
TeiferesT e S |

BPSC TEST - 1 POLITY (SOLUTIONS)

T 2 | Tk AR S ST 31 ST Hehell € ST6 kel Th
T 1 T =t Tl B ifeh hig W i ST FeA g ik
o1 <11 ehell @ 1 foh sheret Ueh WeH g |

FR TH (1970) H S=GH == = A 3 Iegafa F
Tfte B gl o SMEIR TR =T B T o2 ST Tehal 7 |
1975 % 38 o Haenfier e sfifm = Igufy i dqfte
1 3ifer 3R HuMiaes SR =i Swien 9w o oo | oifen,
TH WG 1 1978 o 44 o Hef-eh Teier siff-am gri e
&= T/ o7 | 39 R, egfel i Hfte Rl gufeT o SR T
ST T Y 3R ST Hehel B |

I AR H S HeA BN TSR e St € A T T
ST S ST € | 3 TS IS HRETE T A & ST
TS FI T: oo o BE TG o THIN TR THI & Sehl 2 |
Ife e % S HeT T T L o © @ srerest fraiia
TE T W Tge ff oA el Bl Tehell € |

Q32. JIW:A
AT

frerifea srafer & wiftq @ vee fRdt dema o feorered W fea
T Sheel S 319 ey o forg a= it @it

39 FEH % YRY B U T 9 & HId qeh g=eEdl o
Teiferd Tft T HIA AR R

TTH, Head 3R 7ol TR O dErdl & ol 9es were €9 9
At BT g ST |




Q33. JI[W:D

T
TR % SFTER HafTeh TR i 312 Wit TR B |
TheR 319 & o S SR o 9id ® SR 3He 9 e,
feenfirent, shreduiferent et =rariferent, ferer o FiRd waems
o T8 B A B |
TfereT TREHR G 370 AR R T 32 ST ot Bt 3R
Hfersll W P T o € 1 3 dand sa wifers § i WaER
Foft off ST STeTe el B Fehel |

Q34. IW:A

[JI[CI] K

U 1 Tl 7 WH T ARG 9ed s, 1872 §
WeT foRT 10 w1e o o | arest =78 e, sfceeh Wil =
o Rygial g1 PRI 21T SIR = =™ g1 1T Y feheit
oft oo o s7ef B |

HYT 2 HEl ©: UM A T Teiel e e Sk
SRR 3R ffeer =rareri eFi s vt 1 ST S|
T =T i e Ferddl darid & erer W ferd e, 3
Tia | SEH, el e T 31 e e |

U 3 TE B: UH AT TS S0 o Ak AL
A B 3R g8k e e B 5= e %
RSt § TS TRHR gRT e fefam s |

Q35. 3JW:B
YT

Tfere-gd df ¥ 3 B At fRe o faae W wa=
AT i ST FEATE AT <l &= BT | Felle ~=r2rer™ 51
T HeATe STETRI el Bl € | SHITY, Te egufel R Snemehit
81 §; 9 TellE 1 /I o Fehell 2 3% el o |

TSI Heed o hT 1 92 7 TR 99 31 &1 o1 33 Sl
TWTET 21, Halle =rTerd Tt &1 3197 TellE & Hehell © o0
Y THR T THA R |

Q36. 3JWX:C
qrET:

AT § R T 28 T 39K 8 &g v W E |
AR o WU o 1gese 1 (1) | 581 1 € foh wRa sl 1
T BT SR G o TEATe WA i Uk WY, IS,
SR, SAhdiTeh TURTSY o &9 § YR dl & | e,
AR H TR ! FHE YOTeR sh SO T2 |

Q37. 3W:B
T

U 1 3R 2 Tl 7 Tzafer & Frater ik Heim don Tl
ERI SR ST o STHIEH o, TSTE ol vkl 37 feerfer
AT & S EA 2 |

Y 3 TeTd: TSTHAT S T helel == 3 Fehell © i
STIE I AT T TAET Tél H Thell (S AR S e
o R) |

Q38. 3W:B

[EC |
TR HereT o TR ! SEET T bl STa== T € |
T TS ! TEET YOTTed! o T 7 |
T YU | shriaiferen faenrem &1 et 2t & oI faenfem
% WY STREER B B | aredfae SHwr vl we Sk
3IHen! AbaRe § FiEd Bl 2 |
AR e o SEse 75 (3) o U, SRR arRs
w9 Y AT & U STREE B ¢ |

Q39. JIW:A

AT

Tl =TT 6 fafTee et R frfetfea dek fereafa et &:
ferit ferem-ud wifYr, T, e, sew, W98 1 o
Y S&eS § S e |
g 3R T o ST 7 Gl 7R U9 T AT |
T e e o Y H, Fais e ARG 99 i
T o < foarel ot ot e 21 forega w9 @ frfefaa
e |
v g 3R T 1 31k Ui o A
v U a g SR feRe I =1 I ok S A gl W

Teh 1 AR 3171 TS o &

v AW e T & L

Q40. 3W:C

AT

e BITRRTE o1 312 & o =T ohl Ug el IR H ferae] ol g o

viferd, 1 o 37diet & H1esm § | 3qe faer fFeferfad qes 2:
T 1 e B: AT o Hifetes ATRIHRI &l Tad=, =rer &
ST o HH |
o 2 A ¢ e AR T farurmaisi % geedi o IE o
Haiferd faang |
HoH 3 W & Weu H e ¥ S HHel i e
A © 3 A H TR e & STee S |

Q41. IW:B

[IEC |
T e SfifEE, 1956 & ded wergd, R Sk
STEEIE S Sl STeTTT-3TeT She, I W1 S 71, fyeent
1 G 1973 Tl A9 SCeThT ATEIT H & T |
R, 1961 H, e, T 2R < i el e ¥ IR
&5 7 fiye foran T SR A, 1962 H GHe g st 12 o
Gaenfrer Geee s, 1962 SR, T 3R < o s
SR o9 ST &Sl e T | 1987 H Tel T7 % T3 o |1y,
A SR el Teh STl s, S el 5 7T |
1 TSR 1966 Tl UST TS SfafEH, 1966 SR F<Tg
T SR B RO SR T ) SR TSI 3R e U g
S W T S T
e 3R TR gaell &1 10 o Faetrer Geier i, 1961
ERT 11 3TTE 1961 W Ueh shg WA We¥1 & €9 | 9Rd 99 §
e feram = o |
- &g IR W e 3R TR gael 3R g 3K el &l
26 e, 2020 9 ferers & feen T

BPSC TEST - 1 POLITY (SOLUTIONS) 5



Q42. 3IW:C
T

734 Gaenfees Geed s (1992) o sfvard wreaem:

v ferwdt it = Wit o WHE o I WA A TS

v I, At qn ST TR IR d=Eal s 181

v T TS STERT 6l T,

A 2 T & e TRi R gl § Afgersdi o forg uek et

WISt T TR0 |

739 Hawif+eh GeNeA A= (1992) o e wadm:

v T U & STeAe % ST S Ugh ot FTEiRor s |

v T o Efe R e el e Ser o

v ST THR ZRT T AR el ST aTet 3, Ieehi, et
3R Y[l ol T=Irel i Fiae

Q43. JWX:C
AT

[T W AT 1 3T Te & fhelt off FeT 511 &
o T Tehal B 1 37 SRl TR | & Teh-<reng geed (=i
IR 79 AT ST TR foRT ST =IfRT ok rsafer =i 14
femt <A1 e e s =nfew

I WS F Fol T & 3 foerE agHd § eIl W
e B % 1S 38 TR G H I S 2 |

e Teh rel =nf3res Wepfal i <l & srifer 78 faremsht sl

TR Rl T o Tl 2 |
TeTeh 19 HIF, 1967 § Wai=1 =Erer™ = =l & foh fewes
fagidl o e & fog o gEe g Hifde sfteRi o
G =T} foha ST Hehe € |

Q46. 3JWX:D
qTEr:

e it ) FreAferfa gfiesr & et A S 2

v A UferiE SR SrErHISTes iifafeeE S [ et
AT, Hrefsif-reh Hafx bl T8 AT 31 o Reetreh <drait
FEIHFE FAR |

v 3 R A S Gt derd St iR Freftor |
Tl Sl HEE il € | Hiel FR i qreet (1991)
H, gim I 3 7 3 51A (Hifets seed)
YA I YAefTehell el e 2 SR AT i
S X oh o fohal ST Hehell 2 |

v 3 et o foT SR Fid % 9 | e R B AR 3
T ST SR Rl St A S S 3 § 13 Te
e 9 it H Wi wmier 21

v A HA G AN A A € | 3T, T 3 O R bl
TR A H ferheat 3 T 3ot STHIAT =1 Sl o <61 Wiarer
Tl & | TS TR S9ar Fraror sffee, 1971 519

=1k ST Wl I Rl 8 1 % ST TS Felleh] o STH 1 ST Fed S & |
Q44. JW:A Q47. JW:D
QAR W

T 1 WE B: 59 Tl TR b U ok €, 9% 9o
ST % T X HH G & ol forehed el &

T 2 eI §: 5T [ RER S STAN Hl €, Al 98 HS
Y 3T o HH H o [T i HLl ¢, ek TSI Tt
ARG

T 3 eI & ST gl oS ol SYAN HLl §; Al 98
Tt ot (Toreioren A vl |1 ) o fioare o) e arafer o
T ek & < € | W 3 W, 9 el ol SHY &7 Hi T A

29 fegR, 1953 ol YR TSR A A ! Wi & Gvia &t
AwIReT e & foru =1 GiaT S <6 et fepa |

T 3T ot FAifeti o 3MeR W, 1956 H SHe gRT sttt
5T Tfe =, 1956 & ded 14 T=9t 3R 6 g I
il st rator fefe T

I et STl (SMEM % sreel) S, U ok
THL.TH. o o9 TS 3T & 9eeT 9|

T ST A HeE 3R USTe o ferefrot b1 wmei =7 foma |

Tl o R & ol A T 7 | Q48. IW:C
Q45. JIF[MR:D Q-

T ST 47 o T, T 3 0T TR AR S TR 1 e o

e SRISUSH a1€, 1951 § S=Iq¥ e = i fean f
Tiferen SRepRY 3R Fieeres fagidi o e ol st 2ot =t
featfer o, Aforeh SRR ot weran art |

.. YgRaHl d1g, 2018 | =@ J O & Fsr
R Hiferen SRR H TREghd Sl s =T 31T e, 3R
Ig TIRAT, Tl 3R Tl 1 Hidie el € | I8 HHe
WY IR R et IRERY 3R T7 & A e gl %
o foare /derd o Fafera =@ o)

HYETE YR AIHA, 1973 H S=dH ~Ierd 3 379 Metshel
(1967 ) el =l TS & ferarm 3iR soon =it for S dferem
% forelt off R & Welier X Tl € oifth 9 THe “ga

BPSC TEST - 1 POLITY (SOLUTIONS)

ST Teed § YUR % U &% TG WA e 59 A

eife hded BT |

ST 51A % e, € Tl o Vleh =Teh ol sheie BTl {oh-

v ST 1 are AT 3R S STeN! 3R Heer, T
£arSl 31T TS ol THHT ],

v T o foTT U e el U S ATl WET e bl
ST SR ST I T

v IR ol WA, Tehell 3T SRESAT hl ST T@H 37 ST
T8 A % forg,

v o9 % T&T AT 3R SERTRdl Ted TR U Wl W
<,




v eiftien, wTTg SR &S A s fafaemeli @ W e @52, WG C

o Tl S ok S T 3R WHE WEER S e
FTa ST 3R ARSI Tt AT % FoTT, SToeTToTTeh wensi
T I AT

v R EHY HEH o T fRrd i W T 3 S
T,

v o, e, A ol o= Stte |fid wrfes qataR #
T&11 3R R hTAT e Siferd Wor o Wi g2 &,

v AR gReenitT, HFErere, e Tl guR S e
forepfira &,

v eI T i e ShAT S (S s I e,

v i 3R O i % @dt & O st
fesm o WorE AT difeh T SR YA 3R Sufer
3= TR I 96 T, 3R

v e U Eiice v o S % S ST S 71 o b e %
TEER WeT T (869 Faenfieh Geme =M 2002
RIS ) |

Q49. JIW:C
T

R % TET=AATE! bl G BT H SHHIR HAT STl € 377
Y1 T STETerdl o S8 GAATE T AR Bl 8 | SEehl Haeld
I 2 o o8 TR 1 iR o Hehel & 3R 3q giE e
e ferelt off sreTerd H SRR %1 3R § St e 3R gefet
o o fergIieR B |

RA % FETAIHATE! %l U8 TR Ted g it et et  wnferet
B I AR €, 3R el dfed @ sfta w1 o wig s
SRl o T H Hell e oh o Tl el © ST 8 | 7T Waer
el STt Sl foelt sl e ST Te it e o %
fag 21

3 o Tl FergToereh 3R S=fer Wil & i1 Ueh WS WEw ol
ST € |

Q50. 3W:C
T:

T % 3o 19 (2) & T8, IR ol Gel iR e,
TS I qRew, faeeh I % e HHget de, St
LT AT =1 Afciehell, I1 TETrd sl STTHT, HRI
o1 FREt 3Ty o U S o SMYUR 9 A0 o foeR

qTEr:

U 1 TTeld 7 ST 1 19 I | U et ded
ERT o T 2 o SE o S e % e SHe e
= for ot ot feremmreaadi & |

Y 2 T &: SIRTUT Sl HETNT i HrHaTE! & Areay o
T2, s TSTEHT % TETd g 2 ST Hehdl ¢ |

Q53. 3JW:A
qTET:

TR e | Hifeter SAehR] sl e 3 & qHeH J8 e
A (1928) gR1 e 1 o, TofoTe faehed (A ) T8 SR e

Q54. 3W:D
AT

o = ol e 1 T fauEee 1 9ee IH W %
fore er vt s (1951) o Frefefaa sl
Trrerard Freifa = 8

ferur uftve o fore faifera 8 arel safer o Heiftd T o T
feremrra & o forg Frrateres g =ifRw

TSI o AR o {10 A =afer ol Gaiferd To 1
B =R |

fqem | & forg fraifa eF o =fa 1 gafa T &
T frrafer & 1 faferes e =Ry

Q55. 3W:D
[

FTEE 41 % e T, AT SNk xS faehre =t e
% MY, T T 1 SR, 1 o AR 3 S,
TR, START SR ferehetivl o Ae # IR SEifd 9 %
31 Tl H HrefSif~1eh FETIl WS i o fo1g wofrell wrerent
M|

STEST 42 o T8 TS T Hl EET IR Ao gnsi
1 G s o o iR wgfer e o fore saeer i |
ST 43 A o ded T fendll ot S o o SushHi, Wi
1 37 TSI % e T Aftreni s Yrier) i YR i %
o SRt 1 =1 Rt 311 ek © he 33T |

ST 43 o e, TS UTHI0T &5 § SHfeRiTel o e b SMUR
TR FER I hT TTAT < T FAH H3M |

3R sftreafer ot et R w9 W AR SRS 56, 3 A

GHAT |
AT
Q51. FW:C
_ o faEes herer faarasn & et feman T Hean 2, e aitve
e o T

STEST 352 o B STel TSI AT Tl STV ] Teelt
& T gl g 3R T ok sl TSTeel o HawIfereh fereo i
TN R Thd 2 |

T Hols Te § ok Tegufel g T IewT <Rl o BEaiaRon (X
QIR 3R FETIdl SIS 1) Sl S 2 TE, X Fehell € |

Tem ufioe S sfe R =i X Hehdll @ ifeht Srer i it
TR HAGH el o Fehell |

TS Ik Yl ST o SRFR & 1 fofaR 3 & Heie
o o foer aitere, T foer | o | S Sifer @
FA R

BPSC TEST - 1 POLITY (SOLUTIONS) 7



Q57. 3W:D

[]EC)| |

fferen= o <Aifel et Ragia o1 g anfferor = foran T 2
FTeiiieh, TEeh! o &g 3R fown o SR R, 5 &+ =ues
ST H arviiehe feha ST Tehell €: St FHTSTaTS, Tiefardt ik
IeR-age |
e Ragial o1 3899 TRAT Hfaer | ol Feamehr T3
T STEROT <Al IMTHE AT © | =il IS e <91 o 3niffeh
Td ISR AR ol AT T =8d & | TSt elehds
I T Hifereh SRl ¥ B 2 1

Q58. 3WN:B

T

et Ferel SRl w1 TT o foieia & a1 Rel i &l b yomed!
2 1 T8 et SHd W el o SRR & SeR W e sefy
o g werd Bt 2 oIk S0 HHE- W e s R
T SATIHA B |

RIS (T HIA ) T ST ST Tl h] HIEE a1 © IR T8
1894 o STeT U2 o & I Biel ¢ | TRt fordi et 1
IR 8T & 3R e Shae ferdlt fersie spror = wRfeerfy (S
RER o g7 o1 T o Rvd o R o1 foa ) & MR W&
KRk

el € hel WA % [T T SER T el 8, 9
TR 38 SR R Wehell & IS, SHeH! TF W, el ot
T T % 2 | el & =1 U svien 2 6 Rer W
TR B HhAT 2 |

SRR T 1 TSl I e She) b oft SRt 0 gt =2 foan siren
1 35 e, T Gesil oh Qo A SRS eI TReT
Tfefafer s SRR () o ded SIt 38R M S o
R & fore o T €

‘St 3R ST g Sl dge i Qadt g % @'
TSI T B oot € 3R T WERT A St s % ded
foreit el ! tRiet I e o o fore oA o s 2 |

R T IR ERT FETH ol STl € | STt SR 39 Haiel
T TS TR B 30 RIS 2 € 3R et < < i gem
TR gIRT HIaT SMER 9 i ST 2 |

Q59. 3W:D
T :

STEST 39 % ded U, faes w9 W, S i s g

T 1 feen | FreR -

v AR, g SR Afkestt @ w6 Y W, Ssifes &
T TE 1 SR

v e o difeh SEIEE o Tt 3R R 5 veR
ferafa feman Siran € foF @1 e < fore aim dva el ok

v e S % e & UROTHEEY U 3R See o
WAL 6T 3 TeH o T Fehmgot el &reln &

v gl 3R ARt < % T wHE e % forg T
I

8 BPSC TEST - 1 POLITY (SOLUTIONS)

Q60. 3WX:D

T :
I 36 % ITUR, AN IV | " 98 1 9t 31ef @
A 111 H B | SEfeT, S ohg 3 T SRR o feemedt @ik
HIHHT S, Tl T WifeRtoT iR 21 % 31 |l wrelsi e
TR SMfhel 7 1 39 aXe 3 A ks ety & g afeew
SHrferent o forg off Féw 81
T o i IS Ten fgidl ol oot Siaem & I IV (91 VI
H ) § 3o 36 W 51 dh R T R |

Q6l. 3JWX:D

oqr&r

HU 1 T B W o fqdd, Wi o i o Srrehret
I Ieer TE § | 39 Wb, WEE H {51 Rt i g % Aee
33T HSST o foTT 3UeTsdl Ueh SHIT=es U2 |
U 2 T ©: 3T YA T 98 & SN &9 & | FH A Afew
TR YT A1 2 | TR ST i ®9 ¥ oo St € |

Q62. IW:C

T :

Tiferer SRRl | Gaiferd ot 9 wel ao 9 59 TR &
v TiieTehTe S dTE T (1967)

v hIEHE IR S e 59 (1973)

v THal el 9 wRa 99 (1980)

v . e T4 Hg T (1950)

Q63. 3W:B

qreT :

=9 Gl o Sefr o1 aar 1921 o wenfi T faxig afufa o
ST HHAT R |
Tl o 1S o hiet § UBell Wierehel il &l 139 1950 |
ThTen faa Tl St TS i FawmieT o= foham = o |
A T Y T 25 T & A 1956 H THhH! TSI TR
30 X < E | T A TET shael wiehd § § | 39 Wi o
ST 1 <hIE e el € 1

Q64. 3ITN:A

oqreT :

HU 1 TE 8 TSI Ve, e ufieg Uk Tad ¥ €,
1l 7T U Tl kT © SR et fererest el B 2 |

A 2 T & T U feTe TeET 3 g 9 o wEifd W
T+l &1 571l € 1 1, 8Y e e WIed b 3 I8 R @l ¢ |
T 3 T 8: o Wi & AR o ot e o =T A 3R
iR (T BRT) BT e & | e 21 el Weed
ol : T 3R q:: AHiehH o g T Bl € |

Q65. JIW:C

oqr&r

FTEE 23: WG TR 3R oA 2 ol e 1— (1) Ha
T 3R SR 3R 36 a%E & 3 S 99 (g € 3]




TH WGYM 1 g A Seeio HA & AR ST ST
B (2) 39 37w H 5o o o9 &1 Welsiieh Segai o forg
frared Fan o] A Y R Ak, SR U Far R A
T heel G, &, STt =1 a7 o1 $H 9 e o STUR T hlE
AT Tl HT |

STEST 24 HREMT 37 B ol & ISR TR Hferater - =eg e
Y ¥ 39 % fopdlt oft =4 ! fopelt SR =11 e o o A
o foru oot <7t feman ST =11 fepelt 311 @ekTes SR o
TE o S |

Q66. 3JW:C
g

T8 T D Hifcieh o € STelfeh 371 IR heied € | SEERI
o foTU, Teisrl ST o e e ol i1 Teh Hifcreh fagia 8
3R e, T LaT SR TSI o HHEHA A U AR
HAAR

o Hifersh SepRY % feroia, St @it eferrali Rem e €, =
o =Ten B o1 fere e, Hifereh st Sheret ATenT ek € Wi €

9 1 3R 2 FEI B: TS H T Yo o Fereioieh U1 i o ferq
gl i g ST A1 SRR S YTl el € | SeTeRu
% fore, e ot Wi fifer O o O eferd ferereres, = e =0t
Tranett o uftard= =1 -1g T o fmior o for feee |

FH 3 T 8: Ush WA elIfeh Temer fereiren =1 df weh 1t a1 0k
forsTt Tree g0 Ot foal T Hehell € 7R Tk foru regafer <t g
ST T STEYehal TEl Bl 8 |

HU 4 TE T o (eI hael sl it g ST § € Hae
H e fohen ST Hehell B

Q70. 3TX:A
oqreT

429 HAHIfTeh GG AU, 1976 G YR Hiaem &
AT (IV A) H 358 51A Tl SN Heh TR A
o1 10 Tiferer efe Wer fep T |

86 o Gaeer Feled siifEH, 2002 R 399 T Hifdrsh
e Sirel T, FTd 37 T St 11 2 TS |

44 9 3R 48 3 GYT § IS AT Haed el Sl T |

3R FereREl e T e B |

Q71. JW-D
Q67. 3JW: B AT -
T - YR o gl 3R AT % oot 1 Frefeiliad ge e @
9Rd & WaE % egese 30 (1) W el T € f ad (TR 361):

SCIEETeh] I, T8 o GH I1 Y01 IX AT B, 01 I6e &
SteifOrer el ol TTOAT 3R TRTEA Y T SRR B |
ST 30 (2) o SITHR, T IeifTeh FEHi ohi HErral o+ 1
foreit oft Sharfirer T o WY 5 YR W YeWTd el T o
I o7 I AT o SR I Rl STeqsedeh o ae & e ¢ |
T & Y, FTE 30 AT Vg b TR ) hial @
3R o SR enfier sTeusReTaR] &l Wl ST |

Q68. 3WX:C
qrT

IR 1 GfEUE (T 148) WRA & e T Heromn
et (CAG ) o Ueh Taieisl ShT=iiet™ hl WaH el @ | YR
SR e ol fa 1753 | ffest e % SR SR
T |

CAG YR SRaTaiel SR I fersiT &l Wi € | 98 Hidsi-ich
o1 1 TReTeh & 37 g 3R T ST TRl R 391 St ot feirr
TR i T3 ea € |

S+TehT ehele e TeTTe o & W 9 o S ik d9e &
I Bl ST T € | T R0 & 6 <. o3, smereeht =
el o1 3 CAG 9 o e & ded Tod Teeaqul iferhrdt
BT | 98 WA § R 1 Aleheliisien JoTel % Wit d 9 T
B 31 & Hal= ~1er, TA SENT 3R G wireh S S |

Q69. 3WX:C
g

el 1 O TR H HRIET i T B et ferent st
STTvIhl B & RO T3t oA B el 2 |

v SO 1 ST SO U i Skl 31T e o
3R weste o forg fersht s =marera o i Starece e 21

v e A1 ST % Rl 37k shrenret o SR fon oft
AR SFETeTd T S ORI hrfare! & el sl S
RIS RIS HREEIRS il

v TSl A TN RGO HREr e wihe
3ok HTeRIel % S ferdl it WA 3rererd © ST =@t
ST |

v WA o T A gar o foeg R e Ao &
g &1 w8 & Afed I SevTRdl Bt 7 | e wu
T B Stk JSgafel I TSIl o REel® $eh shdehTel
% B A HHETE T ST bl 2, lfeh & HeH
1 A SATTF ¢ |

Q72. 3IW:C
g :

ST 51A o cTed Tl g Wi <t RehIiReli 0k 1976 # 423

GNEH gRT NIRRT o Hifeteh Shdedi ol Sfaer | St T o,

TE WA & Ydieh AN 1 Heled BT -

v ST 1 are AT 3R S STeN! 3R Heer, T
& S TS 1 T HE;

v 39 HEM ET Bl WS 3R SR e I e
TareAal o foTT B e werd et Ui faf;

Vv YR S HYC, Tehl 3R SRASl <hl 1T T 3R SEeht
&M h AT,

v o9 % T&T AT 3R SERTRdl Ted TR U Wl W
E2GIH

BPSC TEST - 1 POLITY (SOLUTIONS) 9



v iftieR, 9T SR e 1 St fafererish @ ® 9Ra %
Tl S o S HETE S HE WEER ) HIET Sl e
S, TS o) T ok e STOHTSIeR WeTaii a1 I e,

v mwwﬁaﬁwﬁwﬁaﬁnﬁéﬂaﬁ?wm

v mﬁ@ﬁﬂﬁﬁm%%u@ﬁmmﬁwaﬁxm
3R GUR 3 AR Sifera fort o6 wfer < v,

v R SfteehIoT, FIFGTETS qe ST Te e i e o
ICEARETGI

v HrESTTeh G ot &7 AT SR T ot T B,

v A 3R TR T % @l &6 o st
fesm o WorE AT difeh T SR YA 3R Suied o
I TR I 9¢ T,

v Hrel-fee = sifvrsTeren S f, <9 B U wHieg I o 3 %
T 1, S o AT B, B RTET o ST Ve S B |

Q73. JW:C
g

e oh STEE 64 o WTHT o STER, Je el o SURTSgfel
Wl ST 65 % qed fhal o HROT F Tegufer <t srafeefe §
TSR % AT H (eed FLA TSAT 7, A ST 39 SR
TSITE 1 AT el @ |

TfFer & s 91(1) % AR, I 3@l &% IR v
TGN & T T 9 R B € =1 39 31ty & SR S
IURTSZAf] TZafel o w9 H 1 HL @Bl S A HE] e
Y TET B €, STHATHNT STEE % et o1 feig=] i |
FTHT 65(3) % ITER, W A &k IR IR H
rsgafer st ufkcfeurat e B

gafe (St w1 ) sfufEm, 1969 & S9ER, AR
IR 39 ST % SR THAW < < €, o R ok A
AT TR o TgUfet o U T e |

Q74. 3JW:B
g

TafeT =R & A % €9 § FEE g o S &

9 freferRad e g9 = :

v g% Y 1 AR BT =R,

v 9% UE 9 9 fRE 3= e (W AR S
A ) IR @A

v 34 <9 96 9% a3 T (A AR 3=
A ) 1 dehiel B =8|

v el T T 3 U Haftad e B =t |

v T T TR I 31 &5 1 o aikenfies = st
T T W 1 8, TS o TH SevTeh THEd ¢ | 8 feri
w9 § qReier e & SR &5 & Wi deres
o ferare ! S = fored afer ot dafeen feafq & ar o
BT § FeifRrd e sl e 2 |

v 8 e 3R R o e o el I @ difeh Tifenien
e e freme | el & 9 fiues o e 81 we |

v € 39 % hael U SR o MEU Sl § Sl 3
e H B

Q76. 3JuWX:B
T

HU 1 FEl 8: ST 9 S § Fas i i diE 9
i ol eht 37afe % foTg U eRoT R € |

HU 2 eI S: SIS 3T SRR o SHIHHR GHIeT deh
Ui Gl % el W 31k S7aft dek Ug WX 18 Gkl B | 98
39 9T o forw O: Fate 2 ot o B | e et off aR % forg
feraifer & gear 81

O 3 T ¢ ST et ff o TS2afey ol oS St
19 U Y T < Fehell € | SH hrishicl T e 9 el uE 9
T o ST W B |

Q77. 3JW.A
oqrET

TG & ATV H 168 124 W 147 Tl = & e,
T, AR &, iR, wfsrenali anfe @ geifta 2 | de
1 3% fafraftd s &1 SRR 2

AR G Pl BT T, SFAIRER Tafeed B 3R
el e o TIferTa bl T il ol AR 2 | Fai=
AT | A F e 998 gR FA SR aer A
TS S HHA 2 |

ST =TT S R ST SR R = SR wete
ST % U 37 et 3R qe =il o S 3
= AT o TS % WS o Sl ¢ |

Q78. 3JWX:C
oqreT :

S 37eE 3R STeHel S & Ue Red B S © af wegu
QAR o ol off TeT ol THeh! HIHaTE! Sl STeFeId HH 5
fore e R Tk 2 |

26 TR, 98 TSIl o Rt o TS i THe HEaE! &

STEIRTClT i oh o1 FHIogeret o ehell © S TTafer SR Sqemafe
i o 9e R el S 2 |

Q79. 3IW:B

Raeh =T ST, 1984 & g fergiodrd g6 R &

v T8 3 el o WEY ¥ T TR] gR qiikenie
AT} ! AT ST WS Sl 2 |

Q75. 3JW:D
qrT

T :
YRR WG & ST 300 o SFER, R TRHR S BT

v T ST TR % fT0 o W ARk STTae) ot Heolsh TeX
e H Uk TR =TT Sd e S S e |

BPSC TEST - 1 POLITY (SOLUTIONS)

T IR T 1 T IS ok S (1) % SR, IR TWHR
Rl ¥ S T8 TR eI & Fehell & A1 e Hl TR &Y Tehel & |




Q80. 3WN:B

g -

PR

v ZHeR vfsesh 3 B 'fohE SR o are 9| Te R
reisiieh e TR ferdl sfert o aral ol el i ST e
o foTu ~arermer™ R1 SR} feman ST € | 37: =7 fereht oifert
SR ek A o 3T SR Y01 i I Yhal e |

v e fe aeft TR fofan T et € 5Tt Rt e A e
BRI ST T TR 9RS ol ARk Qrasi-eh hred
ittt &Y, 20 Frsh = w5 wrater o foreg < 7@ foRen
EIKCh|

v 3 AR e (98 goafienton, g, oy, 33 %
S FHA R

Q8l. JWX:A
g

Tl ETRT TG M, TR o T S T T

-3

Y T WA

N f o ITIFER & Tl & ek

F 4T o Teier H YT Yok

¥ 3R WA WA

Tt AR T F

HFE YA o fIY Higeh IR0, 6, 9T ST 3
1= TFefielt ganait 2R it werelf W 3 Yok |

Q82. 3JW:C

D U N N N N NN

g

el ferer ST SR IS STt S ST i e fehen
STl € STeifeh =12k T HeToran Tiiereh i e Tgafd gr
FISEA L
Tk I Wi s SO AT SR [T o TET
ToreTeRR oY <T@ | STeifeh 3eh STemiet ok frferay olieherat areet
R ST 2
e & e 281, 151(1) 3R 338(6) & d@d Iegafe
R HE ot s <t e, Feister Ud Heteian wiiers
A iR T STy S St @ R weg o e
ST E |

Q83. IW:B

2|0 I

739 e Senee U= o ey 9 9Rd & giaue |
Tk =741 T-IX ST 71 | 39 S 1 Sives ‘g’ &SI 5o
SO 243 W 243 (0) ek & WEH I € 1

T ST o Wrea T U H U = TRt S shet
T | T S U TR 29w v e g1 T
FTE 243(G) W e |

T SR TR T SRSl ) WAt i < & 1 T
3¢ HauF e d e fem g |

Q84. JIW:A
[IECi|§

e g faeen 9oe gR1 TR B % w1g Iegfel o I 9l

S e, @ 98

v fardees W 3o geAfd Sar g, o

v a8 R o weHf o Jhar e, =

v fads ) (AR o7 o fadees e €) TEe @ qAfeER
gAML

v iR, afe feer Hae grr Seie o e o fae gene
% TR o TiRa &1 S €, o gt ol freees W s
TeHfa < B 2 |

et ferell oo frerieie et g il fereiren <At TreordTet g ey

o fere o foTT, STRIRTA fofan STl 8, o Togafel 27 o ehell e

v {48Fs R o wenfd e e,

v fadees W o et i Askar €, A

v TSI & e (A 7 o fadme @ f) @ T
ferenf3rent shi qATERIR o forw witer ot et ol € | 718 &
feran T =R o Tregfa o fore sroe wewta o sifvard
TEI 2, oI 8 e T faeed g R o o feen
T Bl 3R 3e foram o fore R & sism e et |

Q85. 3N:C
qrEr

3. . FYA ¥ 9RA-9 5 & R 91, IR 1963 H
T STaEelel H8% ol TR o REelh eAlehasl & qee
T YRl Sifervard Ydrd W d feha |

e TMielt ol 15 IR SATTaTE WEdTe 1 HHAT I g, S 3
T ) Tad 9 Hem |

AT % T 198 o T&d SHavard v o o forg foedt
T ol ARG NeTeT hl el afch AHTI Herra &
feafaa ger S g 21

SITaTE TR 1 Sherel el | € T S Hehl € itk
THEURYE hael eaT o Wi STRerE B 2 |

Q86. 3JuWX:D
qrEr:

ek TS ferefien SraEEl, SR, Ssiiae 31X ASHR R &R
T TR | e, el of =Rt g o U R R e T
22,500 Wi o8 © 31fres =& B =R

o farenfarenT farstett ot @ =11 faish! o) L ol Hehll ¢ | ifehet
el fersTett ot @ =1 fafsht O) SIS oY Tl T S Wehell € S
(A) g gRT ITHNT 3211 a1 8 = g bl S=1 ST 8; =0 (B)
g o Heiftrd Yotd Shuet R feRd Yerd o femfon, e o
Terer H SO oA ST B A SE 329 o o shg = e
HOR R S SR

Q87. JWX:A
qrEr:

o 1 el 8 fererTe o Hreis e oo HAltienR & SAER
AR ERT Fee T W T Tl e € 1 ghen stk

BPSC TEST - 1 POLITY (SOLUTIONS) 1



YT Y& 500 R ~[FdH & & 60 ferifa 2 1 g
3%l & o ToT i SEE % 3R & AUR T SHH GO
AT 60 ¥ 500 T = T gt 2 1

FOF 2 T ¢ RS H ek TeE T e e il et 9eE
T 1 U el o 1 ¢ € 3R =Ied Teed W& 40 9 bl T
| SHe! HeleTd & foh TROE 1 SR fae=ias &) 9l &) ge W
TR e & Haifra o, UEn T o ferared aren | Wi faffaa
T (e ) ot werar g s & o e st @ |
HIF 3 T ©: TTeieh UreT = Stk $iR =IHa| S 9=
I 2, T UREE %l ATl Hee S HHE g1 9 i ST 2 |

Q88. 3JWX:C
qTET:

TR o {120k Td HeTel@l qiiateh TS i olieh i |t st
Yoo H I A TEA B

siffier Hifetfe Stel 1 Sooie T8l 2 |

YR 1 WAHE (ST 148) WRA o e e e
ek (CAG) & U Tl UE Tl WIGHM Fdl € | 98 IR
ST 3R e {9 i T il € | e Westieh for ht
TaTh BT € T g 3R T ST T R <9 S Hyut fereher
wore el it e 2 |

Q92. 3JW:D
AT

Th-Teh AT e 2 |
el 3R STeTTEel o9 W Uelsh | 2 AR aH W B |
o1 Ueh O fe fean e R |

fefe Td wewhEn TaE % Fded T8 W §EH % g3, 3@ B

ST 149 H Al € T

Q89. J:D '
—_ T SR I ST T B % G TS HI a%] T Hal
' T 1 TS el o el % G o shi s o Sifer 9 el

ST 156 (1) % SITER, TeTdTet I5Lafel oh FEICT = 7k U
TR TRM; 3Feffet ASTafer SR ST hi SR HIishict I & o
el Bl B ST el 2 |

ST R |
SMTRTe GHT € & B8 TEH ol THIftd T i i 8l
Skl

FTHT 156(4) & STTHR, TS ST FHFA H TG 94, 3aW: D
% SaS[E, 79 q% U8 T 1 W 5T ek foh Sh1 ST

Tt T e 7 R o Kl
el Toh oo H P TSoTe i 9 srafer % fore g T e H ARa o f=1eh Ud HereRal wliersh (CAG ) i T
H TR R FHAl e | i AT G i o o FrAfetRad e 2 |
Q90. IW:B ﬁWﬁ%ﬂWﬁaﬁﬁﬁﬂﬁmﬁmﬁgﬁ
— TFsH % STTER & ISTUf 51 ST ST Hehell B | 36 WK, T8
' U % FEICUR 3T TS W RN e, 9ol & 35! R
R o T AT o HR H1 STl 50 39 THR € - IR G H A2 |
v U, CAG e o YR @, fS51e 59 swefe™ ° 9ard
v I, ST % T S, W SR U T €, Wk ) wHfeRd At
v UHE T, Y fEU ST € | 59 Wb, 97 HHE o Hefe & A TR |
v U TS (O TS H), e (18T 149) THE 1 U9 3R T SR R e
v o gt o ITRIEH0T =1 FH1ehTe1 o @Il o Helel § CAG o kel iR wifeferait
v 3UHE = i e o fTg sfirepd S 2 |
v 9RA % G I 3R kA tedel ST e o AR % fo7eTeh 37 weTeran wiersh i Ffa Tseufe 5T erae
AR TEAER 3R 7R o & Ueh IRE §RT Sl ST |
Q91. JIW:C Wﬂ,wﬁﬁl@(aﬁqmaﬁ?@mﬁsﬁ)

s 1971 sttt o | g TRerR ® il ! sfifee |

e ST o o foru 3 sifeferm o 1976 o Hener foan o o)
U (ST 76) H YRA % HETAEE % UE H WA g 95, Ia¥: D

o T 2 | 9% ST % e I SR B R |

IR TRER % 37 A w9 % Fiferqel SRat —

3R ARA o Sifdier ifeiiel St Bid & | 3 He=raare i
! SRR eI sl T 3 o Ferdl id € | el
Tg o9 e ST =T o et HerarTard) &1 ug e
g i 2 1 TR vl H, srese 76 H Hififiel SRe @ik

BPSC TEST - 1 POLITY (SOLUTIONS)

Hferer o e Sftfer =i Seor@ 1 ¢ | 3 Hieemd e B |
1 Ferer o Il o ST TEeR T8 WU 51 96 Ue
Rl o STaveehdIsl sl A § T oo S ¢ |

e WAES e WHfd ol TR B, df SEeh reHerd




TETTHS g S ST © | SIS 311 Halt ohferie Sfhfel ot sremey

ST STEH8T THET hl STELTA T §, ol SUEHE HEH & 3

o0 BIdT & ST 3 WA § W e T 8| HeSi ol a¥E oIl B | 39 feufy § 39 e of we X aer,
T Tl F hfere Wi § weresh wee e e # iR I T 91T o 3R a2 W SRR B e |
TTCTT ST STEART T HoAl T hidl € | Q99. IW:C

Q96. 3W:B —

_— T fase % v T S A g d

1983 H, g AXHR = GIIH IS % Taf-1ga =T R T4
TR Tl STeIeTell B g -9 Yaiehi T A Teeh Smnt
foregert fofam | 5 el <t el &3 g SR Toeit o ol Hisgen
RT3 o HTHERIS o St 3R TSN e 3R 3 sgera
3R 3T ot RAThIRET e o1 SRREIred fera o o

v e T TS e o E5 =l T el dl o = | e
foRelt AT W |1e < TR e oh w9 H TR B 9 TR
FHHAE |

v T faerTse & HeE i TS e & ue o e
3R U8 = il e | 40 3 veet 3R gifd o 40 oA

Wﬁwﬁﬁﬁ%mﬁaﬁ% 1 e FRTR &} feham ST weheft € |
v 3T 263 o ded Tk TRl Sfai-3T uiee R efat- v e FaRIReRR et SaT Wl H g SueTeH ¢, St
TRH TS el STl &, T i S =iy | AT A1 iRk R o Aree | 6 |

v STER 356 (SRT TG ) &1 I 95d WA g 100, I6W: B

fepan ST =R, =R Arelt § siferd 59 & &9 o 5t wft
3T frered fawe B S B

v R TR Ters Bl 3R HeTe fehan ST =nfe e
T S e T S AR

Q97. JIM:A
T:

1S ft fareres <11 TroTea o = 9 et 2, Uk far fererers g
2 | o ferereren oft ek fafee wen ot foret fereieren 8, e sharet
e 110 H e arel 8 €1

Tft o fereeren fom ferderen Bt €, ifer aelt forat ferdiren ot
foeroreh Tl e € |

U T3 1 WIGHH hael T ferrent = fa<die faemmet
&R, 7 fom o fereigent =1 Saenf+res et fererent o fem |
o frdrrer & Al H, Siea % U it e B B,
STeifer ek Gaw~ieh Gee fereaen sl vicish Fe- g 3 ¥
iRa forarn s e

e TeeRTeR TAFHT o fersieHt o ROl Yg el € WHI €1 b &,
A g T A3 el TN ST Fehell |

ekt e sl 5T Uit 3k i % SIS i SRR e
% IS TR 7 B ST B T sSeh ST <kl <7 Fehelt
& (Hifer 39 W © forses S e Bt e) |

qTEr:

TEel N % foT 489 Hiet W TA g, FFH ¥ 9RdE
TSI HAF (INC) 7 364 Tie eifdre it oft|

IRAE FHHEFRE T (CPI) 16 9ie eifet o fomer o godt
o T TsHiferen a1l o |

el SR, 1969 H Sienar H 'ferdet & =ar' st g &) T | 39
VR UG (O ) o I Gt e ol 51 1 | Fohedt it & ¥
! e T ferqet 3 = o &9 H W= o o fo, 38 ael &
T AT H et Tl St T 1 10 fererd (R e’
forore ot g1 ST €) BT =R

Q101. 3xX:D
AT

g TR TR i Wil 7 st TReN IR 9 o iR 41 Sl
YR o Tehell & o1 TR < Fehelt €, e ST T g1 e
G % iR |

ETelileh g T Y & o8 H SUR el of Fehdll; Teh T
TR I h et e ot TRET TR R o i SR o et
B TR < Fehehl |

31eft ek WG G shg ol SR WA 7 T oh (o I I
TE T TR |

Q98. IW:C Q102. 3|W: C
[IEC)| | T
S AHEH e H TS o B Sl & 31 9ed & A5% o IR o1 SORTSZR STHT T TS Tl B e |

STETE] T STTARf H SuTeAet sTemiet o T H e AR |
TEE o ST Al S U Sk | erede & srunefa o
U] THeR! LA HIATE |

el T RE, ST ALY o eAeal H @ e €, o T
TEel A H e Tel Y Hehdl 8, I8 shael T o e g i
featfer o € HaeH X HRAT € |

THe STl 3 % &Y H 1 d §U T AT o freR-
fereret o o 2 o TR |

3Y TSI H ot off e W e S o i R R |

e ST T TEH T 9 o Fehell/Tehell €, ifeheT fohelt el
R HA S okt Refer B € 1o aie < Hehdl/ Aol € |

ST ST I SHeh U W B h1 WEe o= e
€ TSI o GUIA( o ®Y T el 43 ol 3eard 8l
Gl /el Tl 8 |

BTeiiteh, o8 UH THF 4 ol We § Surkerd Bieh siet Fehdl € 3T
fo1 AT o e o e § 9 o FhdA ¢ |

BPSC TEST - 1 POLITY (SOLUTIONS) 13



Q103. 3W: B
oqrEn

FTEE 94 (¢ ) % SITER, T % L8] 1 AHEHT 3 Tt
TFeehTel Hew o TgHd o WA TdTd 51 UG ¥ g ST Tehdl
&, e U1 YTl o ok YIferd el el ST ekl ST e
7% for fop o 9 14 o 7@ fefaa g = & s

Q104. 3W:D

YT

YIHIE ARAT HHER BRI T T U VS 7 | TH VR
sk o ool o ool TR R |

I 1 RO Tt &9 § R U89S o el 39 | I&
T ST W) bl Fafer & 3R U e o qef 1 33
Tl HEHH TS |

TEE % B e § EITe 1 o WS el o | gEer,
Tiaat o fore o fonsdt qd e o IS Hed o HE i e
T TR U 12 Tt ST B T 3R THHT SFafey Gk %
IS & T He T B qe T He o fuiia fomen
THh IROTHREEY 39 ¥ i JHed ©9 ¥ YEH & 9 H
ST ST @ SR 39 SR I ST ael T} 1 ST %
TR} o TG § S ST O | WA % W SR WeAl o Qe
SRR GRT I[IehIet o ShTHehTST i 3T ifereh e s
T T FoIareerd i o (9 U v W § |

o ofen 1 e 7 e % SIoE 3 e, Hife,
TiEEi 3R e sterepi § firer ool THel= 9 38eh Hee
1 SFCTSTl T <71 Tehell § |

Q105. 3WX: B

qr&T:

Yqa & 3=e 352 & ded, 19 Jg, SIed SMhHEv A1
Tere fergie <t fefd S eidl & a1 o1 81t €, o Isgafa
AT %1 ST X T € |

STATRTEA ! ST Shi SHTOT ST € o Teh TEH o Hed
TS o et W % I SgAd (TEH H F TEEAdl b
TEAT 3T IUET T HAQH B aTc] WG 1 ~AaH -
foreré sgHa ) W srAifee fomen st sifvramed 2 1

e & =g 75(3) % UK, HEUie 9 €9 9
AHEAN & i STer 2 1 38 g € Hiufee a4t o
e H Tt STe e <9 il e o fagard Wi € 1 vt
AR SATTATE WS IR ehieh HISTREE ol &l Fehell & |

Tl W HEREN S W WfshA ol Seoid HfaH
I 61 1 €, Fores rsgafer T AT =rem & ded o 9o
% AT He %l FHA AfRE W © |

Q106. 3W: C

qTET:

14

74 Hawn+es Gemee it o yeie T | frefaiad 3

TR o TR IfeTeh1al o TS hl e 2 |

v U &5 % fY TR e, B R & % fag
TR UREE 3R o2 wed & & forg R o

BPSC TEST - 1 POLITY (SOLUTIONS)

AR T e 71 A HE el & § Sl fRd st
eSS ERI ATRIeTehT HeTd Wer sl ST W@ €, df ToTuiel 39
&5 ! iR TSR & w9 ¥ e o g 2 | U R
T TR Aifetert T TS el feran ST Fehell € |

TR wfereht o Tt TEEAT o1 AT e R qifereRt &5 o wit
TR foRal SO | 9 YIS o foTu, Welieh SWILieqen! &1 i
R frafea &5 | ferifsia foran stam, 578 o€ & &9 o
ST ST |

Q107. 3WX: D
T

TS ARG W Igel e (1947) | AT o1 Hiawm 39
EEJRRI

v STTSiiad IH- 99

v gl g Y- vd F

v FERST eHEsT qo-aeT

v ERER Secd fig-a

ifSa 3faR| TR (1946) H Wi HEE 1w 59
ThR A

v STSieH IE- 99

v 2l TSig Y- W v S

v FHERH SIS - e 3R selfagehet dud

v EER wered fig- e

Q108. 3WX: C
T

T o Hifel FreeTeh Ragial Sferr & 9 IV o 3i=ae 36 ¥ 51
q affa g1

Hferer femfanaii 5 =€ faR 1937 o mifier dfeer 9 se=mn
o7 | SRS 7 39 T & Gierer § w7t o v o |

Q109. 3WX: B
AT

Tg T qoia: TR e €, st g e wffd &
e Hied T Hee U5 TR gR HAMId ol ST & |
SN TIeRTOT 3 ST dsil e 81 @ W8 & W a2l Ueh
T YT S 379 ek TR IfeTehT o T+ o o 3irerezreh 9t 9t
I TR TE HRAT €, THHT 37 THR H T THR ZRT Heeaqo
HIT STl €, o foTe weh sifergfora & wfaf nfed it s 2
Tk BT A1 she TGN g TSd 3N WeNid feman < @,
STafer ek SHergfer & Wb T WER o e gRy e
SR

Q110. 3W: D
qregr:

TR Feem o e 127 % SR, U feofa o <o wdt=
I 1 G e o o i e o T =i e
B, I o T e R <= e % S 6 U
fafdme o srafer o fore =t =mre™ & qgdf =i &
Y ¥ {7 R Tl € |




Q111. [X:D
[]EC)| |

SRS TR HTEIT ot WSk sheed Ior@ell § € & ot <
HHEA R |
HETRERT % ST i SRR Fed (Y&dra oF ol 9eq)
eI g HA % T W g Hd gRT SR g S 7 )
I o T2l o T, 578 OX ‘eifere o Seets' o 3MER
R RN <[l ST Gehell €, IR o ST i 7€ H g2
% foru Sfaem o fredl sTuR i1 Soote =78 fRea T |
Q112. FW: D
T

1976 & 42« HeleA M % eag ¥ 9 g § =R Y

v ST 43A: TN % e U sl @ e g
A o o heH 33|

v IEST 48 A: THTERUT i Y& AT 3R T SR S T
AT IR st okt Rl el |

v STOIE 39: T o T ek o foTU, 16 e el |

v T 39A: WHM A i sl <A1 3R Tl i g
ST FETHA FeT HE |

Q113. IW: D

qrET:

&g R T % < forTel W G R i 9Rd % e

AT o) et T[T &R 9 STeRTd ST € | WIRel Here

% STE 131 % ded, Fretead fefersli | Fats =

ot SR BI-

v Y R 3R U 1 317k T o i, A

v U 3 W TR 3T FeReh oot =1 el o i, IR gl
3R ek 1 ek T o e, o1

v @ s TS % d Ree o fyae ¥, 9 9 v
(fafer =n Te =) Wit €, o/ R &R wrE sifeR
o 3ifcted o1 foeaR iR ol 2, o 3171 31eTetdl ol 389
R T S

Q114. IW: A

YT

FHSTETE) gl FHIsTaTe st e A fafafad sed 819

T ol Freferliaa o fore R a8

v o A ER SR ST S SR SS 3R Hresie
T o GUR AT (T8 47) |

v M I I S G IR T Bl U S S
TS AT (3TTE8E 39A ) |

v 3T 47 % TR, W % o gifvehRes il 9 3iR
ST o Hel TR Wfersel ST iefare) Rrgidi o) S © |

Q115. 3N A
T

TeilTeh fF1eTeh RagTel Wehfel W TR-aTemr &, ey femedt s oht

TR Ao 1 i 3R iR § =R # Hee FA B |
frrewmer fagia vl o TR-aream €, srefd, g7 Seats
fearfer H =eTei 511 3% T ©9 W AN e R ST Wehar g |
Q116. 3WX: C
AT

TSIE H Gl e 59 v 2
v &R 12
v TSTRIE: 11
v 3ffgem: 10
v e 9

Q117. I A

T

SR Je8T U =AM SIS & S e 95 W S
e | I8 S o 7T e 7 o a8 (qeu/aN) foh sifter
Y 3o U T 3 2 | A T8 91 e @ fof U ke o 3o
TS W Haiftrd whig 9 MR T8 ¢, i 3 UE Bied & oy 7
e < fopan ST 2

e 50 = 1 Frdsieh 98 ¥ se@el A % forg s femen
ST & 57 TR S5eh e SR eI 2 |

TETER, 79 e &1 ST Rt Hreifer ug W e1de s
B2 o T ferarn STl € | ek farardiel, =g Amient el @elsi-ieh
T o o< W S 2, FT TR 3ot SR Bl Wl 2 |
ferehR st ke o foqw fereh femet ot =aferd ST QR 1 <0
Fhdll €, 9ol B 98 Gifed Ao 7 B | I8 Sliehd-%fS & URuRe
o o ey 2, Foteh S1e, e o Sfera Forereh SifrehRi <
ST G €, Shael IRl IR 2 ~IEIer ol ¥ R Hehell € |

Q118. 3WX: C

qTEr:

fafer =t Tk fshan o fagia & SR, WERT i R &
Ui, TS =1 Sfa ¥ afed e @ fefd 9 =it $R
IfFer ST T ST AT <Y | TRFRT bl T I o
R =R S T, W SR S A

M IE I fafer i qereh Wik 1 Soeier 3al 2, af 9Rd
% Gal=T ~Ter o U 38 STk T i 1 SRR
21 T T T ® foR S I erdifeheh, st = srfra
£ 3% e BT Uetel ST Hehell 2 |

AR e & 391 w9 @ Seoifad el 814 o aras[e, Tai=
e+ fofa fean @ o <fafer =it v wirar w9
SRR B | 3R A1 75 ¢ fof Sfora st wfskensit o rers
fopu fomT, TP 1 fergit o Sfte, Tard=rel o1 Suf<l ol S &
A TE 2 |

farfer =t wereh wfkan smifen dfae i 29 2, g 38 YR
UREe o SER G R T # | aRa H, fafr i wemew
Iish T ol SR ATREhT Bl HTHI et 3R Aarit shreiehrt
FHRATE ST T TREIT TG HIAT ¢ | THRT AT 778 & o walre
e 79 A 1 rdifehes, ST=IEqul A1 SIRIG W €,
3 Yot ST Rl € |

BPSC TEST - 1 POLITY (SOLUTIONS) 15



Q119. 3[W: D

qT&T:

BTeieh eereh RAgicl <1 ol It SR WeT =Tel ohid & 3IR

T & HA R e #3d §, qenfy 3 frefefad adet 9

el 3R a8

v R % Ye o 1T ue Hecaqut qdiem o w9 # S
YA B | ST 39 G Sounsl o Selieh H SRR
Hfert 3iR rfeha 7 St o Fhd ¢ |

v e & T SuEnh veRreres % w9 H R 7 |
3 Ragidi = ~arererEi sl =ties SEe S 3 v
TR HeE 1 €, SN et i ot etk e e
R AR

v 3 RISia U ST TS SO % 9§ & Y B |
'Ush TG <ol hl, I8 S Tetifereh [SeREN o oft
B, 39 il o e e e |

Q120. 3WX: D
T

Y TG 3 1 Tedl Hil WerehTel o fore FrefRa g 2
79 SR TEE T g9 @ IR HE SHAR W 3R ST A
| T i e <k il €, RIfeRd, STRifeRd SR STed e
TF dRifRd T (AR 5N fafed) & o difes s
ST Bt & |

SRR T2 o 1G X We Tl 31Tl |

Q121 JW:C
qTET:

GRS = FAemier s ot foh Trsordiel 91 o 9 1 T
Yiciftad safer BT =R 3R Ueh el e eIl =ey fSeeh!
TS TSTAfcreh Sl = &1 =1 fSr eret o femi o it o
o el ferm e |

IRA WEHR 7 9 5[, 1983 Tl I AR .TH. TRHI
SeAerd (3 UeH - o). e 3 €F. AN 99) |
IR SATHNT 1 T3+ fha o |

Q122. JWX:D
&

16

<79 < A S Hfereh e b e e i R g6e
3o el o Ferell e O ST ST ol SR Sl 8, 1 e 3
HIHet Bl fef-rafire R o e ST o Wehell B | 59 Wb S
T S el 3 oA R AR A € R e it o 2 1
T T bl et TS SR W o1 et o < Wk 2, Fafera
T i st gRT Tl | SR e & ded e wikd
T o TE e Bl € foh S S HIHel & ool H ST o bl
TehER Bl Sl & FSTereh foT S0eh Wt B o) <k bl wifere e € |
SIS WG % ded URd FHl %k P SR REHR
el afafem, 1955 € o= Stae (ERen) s,
1972; ST (V0T i ke 3R Fon) sifuferem, 1974;
T ofy (e SR fafeee) sifufem, 1976; SR JFe s
FERIauT ST, 1994 |

BPSC TEST - 1 POLITY (SOLUTIONS)

Q123. 3WX:D
oqrEn

e o wsTe ferefettiae =Rol © ToRa € |
TSTE ! T

31 ==

it wfafaat gr st=

3T i HiFl TR FARH
faferairT fererres =t it @

o fererere =1 WIika €

RN NN

Q124. JW: C
qTET:

2011 & 979 TeieF sfefae o Tesr wftfaal @ dafer ts
o1 FeresTen gl Siel T | 35eh foTe 59 § Weehr |t
% ST e, TR HHEHS, i (07 3R Ueer
SEI <! SIGTe S ohl STEYehel Bicl € (379 43B) |

Q125. JWX: A
(L

T A o STER, Tl SFETerd o ol 39 Tehr &:

v i R Yook T € IR A e Yook i
Tee B L eI T B A Ak srererd ¥ ferare b fger
BT IR T ST R S S | Tk SISt bt et e
kAT T=iiena 3R foarel #i @R garE €1 diw
JTETeTd BT €T 1 Mehel=l i THY faferet wfshan |
3R e sifefer S wishaTeesh Tl bl W SIuEnT
T e

v fqdrE % UaeR STH gehiel o HIeTH © e 9 W@
ST Y Tehd € o1 FrEfHa srererdl o 99d e 2 |

v di%h 3TETed gN oo T ol vateri o T sresrer
BT & 3% 39 fifaret e & fesh o1 g1 wre e @ den
78 TR-3ritet = g €, fe sida: foramei & Froer o
AT BRI R

Q126. 3WX: D
qrEr:

ST 48 (A) o ded, I JATER0l St T8l SR GUR
I FAE HUM 3 2 o Sl AR aFsia i &l wl
Tferer o sfeefad T =i & Frewes Rigial 9 9 w7
WA &, I8 FTE 51( A ) o ad Sleetiad Hifersh shaed §
YuH eI

Q127. 3WX: C
qTEr:

e & e 171 % ER, R T i faur oiwe
% TE! I ol G 3T T I fe Qe o G i Fe
T o U forers © atfersh =& 2|

iR Rt oft oot i ferenrt wfioe o werwit ot et e fedt
o feerfer & 40 9 | T it |




Q128. 3WX: D

qET:

e o ®9 9 I9 T IR THad e o g g
TG IR I G R FHad Gt <kt T G
| STel THed et ST T G o s feRiema e 2, el wHedt
T € e e e

arafrse fqwei (erefa o wme < <iF gRE 9 @ Rl | o
Tt T B) o WY W A S vl wue o e
&\ T %1 79 ST v st 9 e ) v 6
NGRS

Q129. W: D

T
T 3 W W ToTed | Guf &, HARS o, farmaei o
TSR Y, T Gl W e, ST S Snier 2 |
YTl Yoo (A, TR SURATArst & forw e ) |
Tt Y[oh, Tae Yoo, Hraks Yo e e B |
T AT, TR e Jashier U, fR1e 3uss, fremgfa

SUHR 37 S Fefir= STt o €|
Q130. JW: C
[JI[CI K
T Yo THTHR R —
v T O e B TeA - SFEE 168
v ferTaa < sqemet - 3T 178

v HeE % o9 U 9w - T 195
v o faETe I ORe - ST 199
Q131. 3W: D
[

UTH e Ueh =fetd A 2 |
U A ] AR 31 faferet =rererdi S &) s
WA |
TH =T i e Tezradl =i o gerer W fd e, o
Tie T ST, T8l ShrH 4 3R HIHeA 1 o] S |
T =TT Ueli o s Gorg HIehs FAEYS fFare) 1 foem
T FEE HAT |

Q132. 3W. A

qr&T:

g IR A 2005 T S o1 ST hl TG 1 | Go1 B
IR ifaf= 2005 & ENFRET & STHR, ST T
Teh SRR TS ST o HIeorH @ ! T8 off 31 gafery
Tg Teh Haeies e e 2 |

IE Ueh AR TS Lo {+7ehT™l & ST 3diiedt o fem shean @
3R 3Heh IR el TRt <t St R 2 |

I ohg, I Wewii 3R g TR % SR W S ael Tsifi,
eh], HreisiTer &5 o) aRESTFET o1 37 % SR H a1diet Sk
fRreprl R e SR B 1

oqrEn

Q133. 3uX: A

e & s =T 179 % W< (a) & IR, faam aur &%
3ET8] 1 SUILIL] I IS RN il aTell shis Feed forer |
1 T Tél TgH T 37T UE ek |

ST 179 o TH WG % S8R, ST off feemreram o g
©, s1ee] foyeresy o a1e q: Frraifer foemas & veel 1 9
gl deh 39T UE e Té |

Q134. IIX: C
AT

forelt ST 1 TSI 39 WA | et R o s %
fgreres fordl o sroRrer o forg St gee u fendlh off afert <t
TTT B AT < el €, ed ¢ Tehell €, Ted < Fehell € 2 FST
! Fieiferd, %9 31 %9 % Fehdl 2, 759 T 19 9 wEfa
yifert ot R BT 2 |

TSI T I Tl W1 Féf B Gehd. el & T & I A
A S FST 1 WG &, W < i v Tgafd % 9 R,
SIS o 9T T |

e TSI Hd &l HST 6! Feiferd o Tehell 2, H L Fehell
A I F HHAIR |

haret ISRl & et I o foreg foRet o sToRrer ok forw g
TEUT U fohdt off Hfer <l &THT X Hehell €, 39 W R @
Tl ¢, ed < Tohdl 7, Tt 3 Fehell 7, Fieifard o Sl 2 |
€ HI-HIeiet (=T STETerd ) 5T G A1 < % Feie | &,
e, Higerd, fofer, 92 91 < i eot i Fehdar |

Q135. 3WX: D
qTEr:

Hferer = A= et #1 Tds SR Froqay srefvored
TR T IR g A & foe Frfefad waea
fore &

v g e & R B wEwe S GRET W
i ST § | 378 Tgafel gR Werer | sfeciiad adeh 3T
YR TR & e U B S Fehal € |

v FarE e % Yage e s R & & %
G fopelt oft =marer | = et wiftreerdt o wae dea
T 21 BT B W SR el TR R | SO T8 e
i 2 for 3 wfeorsr § forelt ot vt o) =61 oTen © R @
a7 el o |

v HaT e A9 S % ford Rt off et el
e R Fehell § | 39 TR, ST Frf 3R ot =it fpeh
% gRI ST = foRiy et foRan T ehell €| 98 e
i = H 36 SRR, TRHAT 31 FHH &l 991Y
T & fore fAfa B

v HYe galw IrEed % SER & SR viEEr o wH
F % o siferpa T € | Wieem = Tdte e &
Fafir= VR % TR & 1 TRE & € | BTetiter, TEE 3
TR HFA |

BPSC TEST - 1 POLITY (SOLUTIONS) 17



Q136. 3WX: B

qT&T:

e I SR SAfer =1k R o e €, $§ Rwwa
T @ Sl & 3R Gt A @i SR 9 @ S 2
Tk fudid, <7 g SR =i ferd R H e e, i a8
TR ®9 W gferq % o & g € @ik 38 oo ReH A
@ISR |

T o T YT StfRrehry =41 S S1RIehI shl STeTerd shi
TS o fareT = e ferere ® T8 o SR ey (3mRidh)
Y IdTs 3 ot STAR T2l ¢ | R off, 3 srererd 39
HEA A T G281 % SUR W 3aeds THedl © df 98
Heiftra ST ol IR W BaS HA H STEf
Hhdi e |

Q137. JWX: C

qTET:

Al e (STE 32 % qed) 3R S= e
(ITET 226 % ) §E Feaaehivl, TRARY, o, ST
3R siferpR-g=st e S R wehd € |

Hal=1 ~Aerd sherel HifeTeh SAehRI o Fad= o forg e sy
T Gehdl ¢ STa(eh Ueh 3 ~eid = sheel Hifeteh Seepri
o Wad o fog afeen ol 3 329 o forg oft fe it e
HHATR |

Tafet e R 4R 9 R safe o1 W & fgers fe
ST % Hehdll 8, STaeh Ueh S=3 ~AraiTeid 319 &5 SATeehi &
T g ol fordl Safert =1 TR =1 WIfRrehor o Raes e st
Y T S I 3T &1 SRR &5 o S1e< sheel qul e Sy
Y Hehdl B, STd RS o1 IR0T Bl | S &5 3fUehr &5 &
Said s e B |

FTEE 32 o ed Uk S 3+ o9 § Teh wifereh SR €
3R zafeTe, Hal= = 1o e Ssfesr &1 van &3 9
THR Tl R Tehell € | GO IR, SF=T 226 o T8 d Teh 3UH
faaemda & oIk ZafTY, Uk 3= e 31 R afeeeR &
TN 3 W SHHR Y Hehell € |

Q138. 3W: B

AT

18

IRAE W % ST 356 %k WA % ded, TsAr o
HaIT+eh AN o farsmere ol Tefd |, Tsgafa TS § Teeurd
SR 1 SO S T ¢ |

T szl I A e R H sl I TR
I viferT ST BT | o Ol € | 9% HEAH i STeTar el
THfaRee i ger e 2 |

T T [T AT o Wi o &9 | Sf<rel bl FerEar &
TS ] VI el 2 |

THeh eIl eafel o faurasT st it = fredfer e b
®, BTeileh T SMavaeh T8 2 | T el 1 fereret Tegafal
ST Y BT <1 9RO 8T 2 |

BPSC TEST - 1 POLITY (SOLUTIONS)

Q139. 3WX: B
qTEr:

TeFeh el Tt SAIehaT o Ueh Wit & | Sftfe o Sieras & 30
Y Sifereh T It 6t e, R Uohet WehAvi e & wieay
T TEIRICH T % fagia o STHR 2 9ol Te g1 379
T H | T ST

eeT hI IO HER W U Al B ey e A
SRR T |

Q 140. 3WX: A
T

TS IR T fyuee S wHad! g o i e o
T % Tt B HA o bl § | 39 G H ORI
3R wfsk=n, STiRen wfshan, ferare 3R deteh, Ren, o, st 3k
T S fawa §1

TS & I T g § i Rt o A & wee o s
T I feretw wiferrt €1 39 G W v, Sk, faest wme,
SO 3R i o S fa €1

T fqurHea & o A oRkfefeE § T 9= o
el Rl ot Aot % Helter H shie S ! ey wifere €
T WIS e, Yferd, TS Tarees 3R T,
S B

Q141. IX:B
[IEC |

Hrere Haefen See ifEE, 1956: T4 % =R S T

AT A, 9T B, 9T C 3 91T D H Hiefer arvieheor <hl Tared o6 i

TN 3R 3 14 T AR 6 Ty, WA Wewit H qifad o T

v 39 el % AR & i g Iiad Wewi e 5
T T

v AT Y ik TS o AU iR S e S
W |

v 39 e o Siffied Ud shreiares =i i ffa
1 Araem= R |

Q142. J[WMX:D
[IEC |

AR GieH § T T ol I STaTeed! W e
IS W Tl € | WA o WL % STese 163 T Mo 2
o 5P 3 = TrowTiTet i hig Wette o, SR = & dl =, g
St ferdlt oft srererd § Y bl S| 3 e |4t gr
TSI ol <) TR HeATE S TEeT el Y ekl |

T & ST 164 i T, TF H HEUREE H AHfesw
w9 Y TS & AU 9 % Ui SeTaes S T 7, Seth
FTT 164 o ed, Teh H3ll TSI o THETH= W Ig ER0T
AT B 3R e g1 et foha Tl € | 3% 377eh U o ger

o ST W 2 |




Q143. IWX: A Q148. 3W: D

oqrEn

oqrEn

e =T 280(2) & IIUR, WA FA 5N foa
AT % G & w9 H Frfad & e smavas drga st
3ok T & ek i e o bl 2

: "R & BT S el © | 59 VR, UEE o BT
g % R off e o wRdig it @ik 3t |ofd w ot
AL |

TSITe i T8 ST S o1 A & foh e ol 1E st
ST % YR &9 T AN e el @ o s geierr sk
STITS % T AN Bl & |

TH STEN H HEE 5 A, T fort s (fafee wraem)
s, 1951 § e ST & sreae oI wewedt Y A,
foafert, shrefehTet, STETd, aae SR wiferri s i wRifee

Q144. IW: D fepm T 2
e U % 8T 280(1) F TEd ford SN % HeAa iR
' BEIEER ERREL TR k]

T AR 99 (ARifeRd o8 gR1 Te= < 8) % fore Hiflges Q149. IW: D
T SATETTRe Bl € TR SR ek We 31 Wbl € |

T

T 3R, TR we o foru ol SR it enaresrehal el &
3R AT, qXeh W9 el U T Hehl |

Q145. I :D
TEAT:

TS HHAHR ST e o S I 51 T U
EEDER]

THH T 1993 H TG GRT TR HIH A+ G SIHHR
TRe0T A 1993 T IROTHETEY o 7T o |

T AFAIIER AT Tk Sg-9eea a8 fad ww
el SR U HeE BN B |

THH T TG H Tk YA G e o wdt
AT T =TT B T iR Tew | Tt =
1 Teh HaRA A1 Hal-gd AR, Th 3= e il Th
AR 1 eI q&A =it 3R i =aferd (R | 1
T HH T HEel gt =ife ) i o1 AR & wae o

Gate =T o A s e el gR g
el SR wals e 99l S e & i
ST AT § TR o o1e Sl @ 5 9% savEs
T |

2014 % 999 Hae-eh Heer fufRm 3R 2014 & T
=Nfres R eI sffeem 3 wate e SR S
et o e # R W et yorer ®
TSI =i FrEfe ST (NJAC) <He Teh U e o
wiereenfya &R &= g, 2015 H, Waie =™ o 999
Farefren TLNE 3R TTSCE S S ol sreae=es 3k
I SRS R e |

RUTHEEEY, T8el aell ShicisTad yoret o 9 frameier 2l 78 |
Hare = = T8 e g = qee (2015)
AT | = A el {3 7€ qomedt (A NJAC ) ~areraifereht
il Tl <Rl Fer < |

T A1 AN A &, o g =ee | Q 150. 3 A

Q146. IW: A —

e 1988 W 3. AT F eI H TS H HeTEHR AR T
e o TS 88 T SR Hel=IHdTS! UUT i Hriamel o 3Y-Tfhfer ot TS foan T | 5 e N g e e
T & Wehd! € AT 378 AIE S BT ST Tl 2 | TSI Y 1 i 3 | 39 Frretfeifiae R st

HETIIETS Sl et ISzl 511 1 Sl € 3R 8 It %
TR TG SRV AT € | 37 e hreiehrett o forg, IH1: Foiegert
foefT < TR B |

T FETIEaId SIS o W SR T < 7

v Tite, seiieh 3T e T I 9=l o e g S
e ottt |

v e aftee < g Tt e gl e R
571 o Aot el ferehre Tt o &9 § e e =

&THIE 1 TRt Teeata | R 21 v 3R R R EE S STRE S % SER 9 e
Q147. W: D <feT | AR o o off STReqr g1 =y |
- v e ot i e ufis o1 HEm wEiwRt SRt g

: e
FTEE 317 % SITAR, Wk Tl SN & srezar = frelt a7

TS 1 AT o U ST 5T hael MR % IR |

3HE U T ST S|

Harsl 3 3= Aol o A 3 9 & e

HETeRE Tieteh Bl U W B2 W G i i el 8, 3R 3%

e 124 | U M0 alieh W THe o veish He g ey sgaa

W IR T o Te Wogufel o STeT g 82Tl ST Hehell € |

BPSC TEST - 1 POLITY (SOLUTIONS) 19



